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0-21 0000000

Ground condition Input condition Result
Sail Sail Measured Assumed Recoded
Series| Run || depth| density | D, Vs Weight Wave table Acc? || table Acc:
(m) | (gem®) | (%) | (mysec) (gal) (gal)

1 1 2.991| 1.582| 63.6 209 N Sinusoidal 300 -278
1 2 - - - - N Sinusoidal 300 273
1 3 - - - - N Sweep 50 59
1 4 2.959| 1.599| 68.7 214 L Sweep 50 58
1 5 - - - - L Sinusoidal 100 92
1 6 - - - - L Sinusoidal 300 272
1 7 - - - - L Sinusoidal 400 -397
1 8 2.907| 1.628| 77.0 - M Sweep 50 -59
1 9 - - - - M Sinusoidal 100 93
1 10 - - - - M Sinusoidal 300 -279
1 11 - - - - M Sinusoidal 400 -393
1 12 2.892| 1.636| 79.4 220 M Sinusoidal 500 -536
1 13 2.865| 1.651| 83.7 - M Sinusoidal 600 -633
1 14 2.841| 1.666| 87.6 - L Sinusoidal 600 -652
1 15 2.837| 1.668| 88.2 225 M Kobe 818 882
1 After || 2.833| 1.670| 88.9 228 - - - -
2 1 2.993| 1.594] 67.1 207 M Sweep 50 57
2 2 - - - - M Sinusoidal 100 92
2 3 - - - - M Sweep 50 57
2 4 2.995| 1.592| 66.7 210 M Kobe 818 822
2 5 2.954| 1.614| 73.2 221 M Sweep 50 55
2 6 - - - - M Increasing 600 618
2 7 2.881| 1.655| 84.8 223 H Sweep 50 -57
2 8 - - - - H Kobe -818 -819
2 9 2.869| 1.662| 86.8 225 H Sweep 50 -57
2 10 - - - - H Increasing 600 624
2 11 2.861| 1.667| 88.1 228 M Sweep 50 55
2 12 - - - - M Sinusoidal 500 -510
2 13 2.843| 1.678]| 90.9 - M Sinusoidal 100 89
2 14 - - - - M Sweep 50 -56
2 After || 2.842| 1.678| 91.0 232 - - - -

* Acc. = acceleration
After: 0 Series0 000 RunO OO
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1. Piles Steel pipe | 517.29 kg| | = 3,250 mm: 9O
Plate 114.47 kg| | = 3,100 mm: 90
Angle steel| 82.24kg | | =3,100 mm: 360
2. Pile cap 764.90
3. Supporting column 321.54
4. Weight| None (N) 0 ()
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O0-212, 0213000000000 00000000C000O000O0000OCC0O0O0O0O0O
000000000 Series1] Series2Z] 2000 0000000O0OOSeriesIO0 90 0O0Q0nQ
000000000 20000000 UDUoUoUoUDooDLoDLoDLoDLooOooooOo

El (kN-m?)
GL Series 1 Series 2
(m) Nl [ N2 [ M1 | M2 Nl [ N2 [ M1 [ M2 | S1 | S-2
0.14 || 1126.2| 1159.4| 1118.5| 1090.3|| 1185.8| 1100.9| 1146.8| 1059.5| 1199.1| 1153.6
0.05| 988.0| 988.0| 1024.7| 991.9| 1029.4| 1007.7| 1030.5| 1034.1| 1052.3| 1036.2
-0.1|| 963.0| 954.9| 992.5| 978.1| 995.8| 978.4| 997.4| 988.0| 1000.7| 999.0
-0.25 || 3845.9| 3804.4| 3586.5| 3384.0|| 984.0| 974.2| 1003.5| 995.7| 1003.1| 999.4
-0.45 || 3880.4| 3621.6| 3409.7| 3866.1| 993.5| 976.3| 999.2| 992.7 | 1008.8| 1005.0
—-0.65 || 3839.6| 3712.5| 3727.9| 3424.1|| 988.1| 975.0| 995.7| 994.7| 1016.0| 1003.6
-0.85|| 3586.6| 3356.4| 3733.2| 3808.5| 993.3| 984.0| 995.4| 995.1| 1014.6| 1008.9
-1.05| 962.5| 970.4| 993.1| 978.8| 993.9| 983.8| 1001.9| 988.1| 1012.7| 1001.9
-1.45| 977.4| 979.4| 994.2| 983.1| 995.4| 983.9| 992.6| 990.6| 1007.2| 1001.4
-1.85| 989.3| 991.5| 997.2| 992.4| 994.8| 973.3| 1007.5| 989.6 - -
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Series 1 Series 2
No. oo oo gooooao agood goooaada
GL—(m) Pd Dy pPd Dy Pd Dy Pd Dy
(g/en?®) | (%) | (gem®) | (%) || (g/em?) | (%) | (g/em®) | (%)
10 | 0.0-0.3 1576 | 62 | 1.577 | 62 1592 | 67 | 1.596 | 68
9 0.3-0.6 1584 | 64 | 1.577 | 62 1591 | 66 | 1.593 | 67
8 0.6-0.9 1576 | 62 | 1.586 | 65 1584 | 64 | 1.590 | 66
7 0.9-1.2 1572 | 61 | 1581 | 63 1590 | 66 | 1.598 | 68
6 1.2-15 1581 | 63 | 1.589 | 66 1596 | 68 | 1.599 | 69
5 1.5-1.8 1585 | 65 | 1.583 | 64 1.606 | 71 | 1579 | 63
4 1.8-2.1 1.590 | 66 | 1.577 | 62 1587 | 65 | 1.573 | 61
3 2.1-24 || 1585 | 64 | 1.582 | 64 1575 | 62 | 1.569 | 60
2 2.4-2.7 1587 | 65 | 1.593 | 67 1598 | 68 | 1.606 | 71
1 2.7-3.0 1572 | 61 | 1582 | 63 1.602 | 70 | 1591 | 66

|00 | 0030 1581 | 63 | 1583 | 64 || 1.592 | 67 | 1.589 | 66 |
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081 0000000000000

Series 1 Series 2
G.L. Hao Saend Saend/Hao Hao Saend Saend/Hao
(m) (m) (m) (%) (m) (m) (%)
East | West | East | West | East| West|| East | West | East | West | East| West

-0.10 || 2.855| 2.864 | 0.144| 0.118| 5.0 | 4.1 || 2.900| 2.898| 0.139| 0.123| 4.8 | 4.2
-0.25 | 2.766 | 2.745| 0.141| 0.126| 5.1 | 4.6 || 2.755| 2.756| 0.130| 0.123| 4.7 | 4.5
-0.45 | 2.543| 2.532| 0.158| 0.144| 6.2 | 5.7 || 2.562| 2.552| 0.147| 0.127| 5.7 | 5.0
-0.65|| 2.298| 2.295| 0.132| 0.114| 5.7 | 5.0 || 2.377| 2.345| 0.186| 0.117| 7.8 | 5.0
-0.85| 2.153| 2.157| 0.131| 0.131| 6.1 6.1 2.165| 2.169| 0.118| 0.105| 5.5 4.8
-1.05 1.956| 1.952| 0.116| 0.114| 5.9 | 5.8 || 1.957| 1.970| 0.118| 0.104| 6.0 | 5.3
-1.45| 1.555| 1.550| 0.098| 0.092| 6.3 | 5.9 || 1.548| 1.558| 0.088| 0.078| 5.7 | 5.0
-1.85| 1.177| 1.134| 0.064| 0.044| 5.4 | 3.9 || 1.151| 1.127| 0.059| 0.059| 5.1 | 5.2
-2.251 0.780| 0.750| 0.027| 0.032| 3.5 | 4.3 || 0.761| 0.740| 0.041| 0.038| 54 | 5.1
-2.65 || 0.356 | 0.357| 0.009| 0.002| 2.5 | 0.6 || 0.370| 0.357| 0.010| 0.002| 2.7 | 0.6

Sg

Sa = Saend X (3.2)
gend

0000OH,=000000000000000 (M),S,=0000000000000 (M), Saend
=0000000000 (M),Sg=00000000000000 (M), Sgend=00000000
O@moooo
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0000000000000 00000000000000000000000000000
00000000000000000000 RunD00000000000000000000
D000 RUNOOOOOCOOOOO0OOOOOOOOOOOO0O0ONONOODOOOOOOOOO0O
00000000000000000000 (3.3) 00000 Aras Intensifg®0 0000000
Oooo0O0o0O0o0O0O

_ﬂwz
h‘zgﬁ a(t)dt (3.3)

000 0Ola = Arias Intensity (nisec),g=00000 (=9.8msed),at)=00000000 (m/sed)
oooo

Arias Intensity|l, 000 (m/sec)0 0000000000320 00000000000000
OO0at) 0000000000000 0D00OO00 l,00000000-3.10000000000
000 Ariasintensity0 000000000000 D, 000000000 ODOOOOOODOOO
g ogbbbbbobbbbbbbbbbbbbbbbbboooboooo
0000000000000 Ariasintensity] 10 10000000000000003
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D, (%)

1
100

la (

1
200
m/sec)

1
300

0-3.1 AriasIntensity0d 0 0000 QOO

0-3.2 0000000 Arias Intensity

Input Input Input Input
Series Run|| wave |Acc’ la Sy | Dr || Series Run|| wave |Acc. la Sy | Dr
(gal) | (m/sec)| (cm) | (%) (gal) | (mysec)| (cm) | (%)
1 1 || Sinusoidal 300, 8.75| 0.0 64 2 1 Sweep 50 0.23] 0.0] 67
1 2 || Sinusoidal 300| 8.93 - - 2 2 || Sinusoidal 100| 1.66 - -
1 3 Sweep 50| 0.18 - - 2 3 Sweep 50| 0.21 - -
1 4 Sweep 50 0.25 - - 2 4 Kobe 818 5.89|-0.3| 67
1 5 || Sinusoidal 100| 1.81| 3.2| 69 2 5 Sweep 50 0.22| 3.8] 73
1 6 | Sinusoidal 300| 15.97 - - 2 6 | Increasing 600| 26.08 - -
1 7 || Sinusoidal 400 29.40f -—| - 2 7 Sweep 50 0.23]11.1] 85
1 8 Sweep 50| 0.27| 84| 77 2 8 Kobe -818| 5.89 - -
1 9 || Sinusoidal 100 1.84 - - 2 9 Sweep 50 0.24| 12.3| 87
1 10 || Sinusoidal 300| 16.08 - - 2 10 || Increasing 600| 26.17 - -
1 11 || Sinusoidal 400| 29.73 - - 2 11 Sweep 50 0.24| 13.2| 88
1 12 || Sinusoidal 500| 47.06| 9.9| 79 2 12 || Sinusoidal 500| 44.16] -| -
1 13 || Sinusoidal 600| 77.92| 12.6| 84 2 13 || Sinusoidal 100| 1.71| 14.9| 91
1 14 || Sinusoidal 600| 70.33| 15.0| 88 2 14 Sweep 50| 0.25 - -
1 | 15| Kobe 818| 653/ 153| 88| after | (Tota) | -] 113.18 15.0] 91]
after || (Total) [ -] 315.03 15.8] 89]

* Acc. = acceleration
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0-32(a)00Run1-1200000000000000000000000000000000
0000002000000000-32(0)000000000000000000000000
000000000000 0000000000000000000000000000000
000000000000000000020000000000-32(c)0000000000
0000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00 332000000

0000000000000-3.30000000000000 (Stop band; 6 f < fsop) 000
000000000000000000000000000 (Pass bandfpass< f) 000000 1
000D00000000000 (Transition bandfsop < f < frasd 000000 000 10000
00000000000000000 fsep frass 01 000000000000000000000
0000000000000000000000000000000000000-340000
0000000000000000000000000000000000000000000
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O000000oo0ooo0ooooooooooooooooooD at)oooon
lLat)DDa) D000 a0d00d0ooooooooodvewioooooooooooono
oog
a(t)=at)-a (3.4)

2. 000002"000000000000OC0UDU0OODOUA()DDOODOODOn (FFT)
gooo
Alw) « FFT[a'(t)] (3.5)

3.000000000000000 AlwDOODODODDODDODDODUD HwODOOO200OODOOOD
OD0D0(w)?000000000t000020000000000

D(w) = H(w)A(w) / (iw)? (3.6)
4, 000000000 (FFT)000000000d)O000000

d(t) « IFFT[D(w)] (3.7)
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D00DO0O0000yz)ODOOoOoooooOo

Y(zt) = dp(zt) - dy(z 1) (3.8)

O0000dp(zt)DO0ODO0O00000Ody(zt)OOODOOOO0zOODOOtOOOOOOO

O000D0dp(zt)DODOOOOOOOO0OO0O0O0O00O00O00O00O0O00O0O0O0O000O0000A0
goboooboooboboobboobbooobooobobooobboobboooboo
ubbodgboooboooo

0000 d(zt)ODOOOOOOOO0OO0O00O00DO0O00000O0000O00O00O00000O0
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g00COO0O00b0o0 2000000oooooooooooogg (GL+0.omoOooooOoOO
00oo0ooopooo (GL-0.10~-285mUb000d0oooooo0O0ooOoooooooong
ugbbooboaaoo
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El
M = —& 39
y (3.9)

e=(en—g9)/2 (3.10)
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P=pPn-Ps (3.11)

Ubb0O0Opn, psO00000O00OO0O0OO0OOOO0O0DOOOODOOODODOO0OODOO0O0O0OO0
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Axial force N (kN)
&
o o

|
=
o
o

100

(6]
o

Axial force N (kN)
&
o o

|
=
o
o

FEEAYE [ 1
N-1 — M-1

| 1 _| — N|_2 1C | 1 _| - '\/!_2 1C
0 10 20 30 0 10 20 30

Vertical displacement d, (mm)

(2000, Run2-4
T T T T T T T T T T T T

FEEAUMHE
— N-1 — M-1 — S-1

| 1 _|_ N|_2-- | 1 _|_ N||_2-- | 1 _|_S|_2-
0 10 20 30 0 10 20 30 0 10 20 30

Vertical displacement d, (mm)

(b) 000, Run2-8

041000000000 -000000

U-41000000000000000

Series 1 Series 2

Run Wave Input Acc. \ (radian) Wave Input Acc. \ (radian)
1 Sinusoidal 300 0 Sweep 50 0

2 Sinusoidal 300 —-0.001 || Sinusoidal 100 0

3 Sweep 50 -0.001 Sweep 50 0

4 Sweep 50 -0.001 Kobe 818 0.019
5 Sinusoidal 100 -0.001 Sweep 50 0.019
6 Sinusoidal 300 0 Increasing 600 0.014
7 Sinusoidal 400 0 Sweep 50 0.014
8 Sweep 50 0 Kobe -818 0.006
9 Sinusoidal 100 0 Sweep 50 0.006
10 || Sinusoidal 300 0 Increasing 600 0.008
11 || Sinusoidal 400 0.001 Sweep 50 0.007
12 || Sinusoidal 500 0.001 || Sinusoidal 500 0.007
13 || Sinusoidal 600 0.005 || Sinusoidal 100 0.007
14 || Sinusoidal 600 0.006 Sweep 50 0.007
15 Kobe 818 0.009 - - -
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0000000000000000000000000000000000000000000
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G.L. (m)

G.L. (m)

G.L. (m)

PileN-2 ~— — — Ground
1F LA B | L I | Y I | L O L IO I | O IO IO B T T [ T T
o_ — — — — — —
_1_ - - - - - -
_2_ - - - - - -
-3 1 1p‘0q SE§ 1 1 1p‘07| SE§ 1 1 1p‘14 SE§ 1 1 1p‘21| SE? 1 1 1p‘2§ SE? 1 1 1p‘35 SE? 1 1 1p‘42 SE?
-20 O 20-20 O 20-20 O 20-20 O 20-20 O 20-20 O 20-20 O 20
Displacement (mm)

(&) Run 1-10J 00O 300 gal
l_|||||||_|||||||_|||||||_|||||||_|||||||_|||||||_|||||||
0_ — — — — — —

\
|
_1_ - I - - - - -
_2_ - - - - - -
_3 L1 1 19‘90 |Se|C L1 1 1p‘q7 |Se|C L1 1 1P‘Jf4 |Se|C L1 1 1p‘g1 |Se|c L1 1 1p‘g8 |Se|C L1 1 1p‘$5 |Se|c L1 1 1p‘42 |Se|C
-30 O 30 -30 O 30 -30 O 30 -30 O 30 -30 O 30 -30 O 30 -30 O 30
Displacement (mm)

(b) Run 1-11 0 O 400 gal
1F LML O L IO | L | N | O | I B I O M L B B B
0_ — — — — —

\ | I | | \
\ | / / | \
A I Il I | I
J/
_2_ - - - - -
J
—3b 1 19‘09 ch 1 1 1p‘07 ch 1 1 :]'p‘]"|1 ch 1 1 1p‘2‘1 ch 1 1 1p‘2$ ch 1 1 1p‘3$ ch 1 1 1p‘42 ch
-40 O 40 40 O 40 -40 O 40 -40 O 40 40 O 40 -40 O 40 -40 O 40
Displacement (mm)

(c) Run 1-121 0 0 500 gal
l_l LA O | L I | L L | I | L O B B B |
o_ - - - - - -

| | | | | |

/ N \ s e

\ ] (
-1+ o o o o o Lo
1
-2 L L L L // L I L
\ Il
_3 111 lp.OIO S|ec| 111 lp‘0|7 S|ec| 111 lp‘1|4 S|ec| 111 lp‘2|1 S|ec| 111 lp‘2|8 S|ec| 111 1p‘3|5 S|ec| 111 lp‘412 S|ec|
-40 0 40 -4 O 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40

Displacement (mm)
(d) Run 1-1300 0 0O 600 gal

42 00000000000oooo
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0 T T T T T T T
\ !
l\\!\. !‘/i gal,
\\ LpI // ;
N
-1t T TR 1 -1t
S A
£ N € 300 ga
| i /‘7\ 400 gal v 40092l
o oy 3 4]
ok \\'. ' ,l i P 500 gal | Sl 500 gal
Y ll,,
gamrmo w1
MY T 600 gal 600 gal
THEA s . ’
\‘ il
\\" / TABLBOTHER: Y =02
_3 1 1 1 1 1 1 1 1 _3 1 1
-50 0 50 -0.05 0 0.05

Displacement (mm) Shear strain y ()

(0 0000000000000000000OO (hoOoooDoOoOoOoOoOoOoooOoOo

043 00000000000000 (Run1-9-1-13)

0 T T T T T T T T

Dimensionless depth below the ground level z/H

0 ] 0.5 1
Amplitude along depth Z(z)

U044 0000000000O0O0

0000000000000 00D0O0O000-4400000000 (22)0000-2200000
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Acceleration (gal)
Power Spectrum
(cmzlsec3)

0 10 20 30 40
Time (sec) Frequency (Hz)

0450000000000 (Runl40000)
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= =
o [éa)
o (=)

Transfer ratio
(o1
o

Frequency (Hz)

O-46 00D00O0OCOOOOO0ODOOODO (Run2-1)

G.L. (m)

~

Sweep wave 50 gal

-3 1 1 1 1 1

0

50

Displacement (mm)

(000000 00O0O0O0O0O0O0O0O00OOOO

U-42 000000000000

Run |  weight | structure| ground |
1-3 Nothing —Hz | 8.4Hz
1-4 | Low (Light) —Hz| 8.1Hz
1-8 Middle 159Hz| 8.1Hz
2-1 Middle 17.0Hz| 8.1 Hz
2-3 Middle 16.2Hz| 7.9Hz
2-5 Middle 15.2Hz| 7.9Hz
2-7 | High (Heavy)| 13.8Hz| 7.8 Hz
2-9 | High (Heavy)| 13.5Hz| 7.7 Hz
2-11 Middle 15.4Hz| 8.1Hz
2-14 Middle 16.0Hz| 8.3 Hz
0 T T
_l_ -
_2_
IR 0 0.01

Shear strain y (-)

(hOooooooooooooooo

047 0000000000O0ODOCOO (Run2-1)

gboboobooboobbooboobboobooboboooobd
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obob0obobOobobooboobo N-L, s-looDgogoboooobooobobuobobuobo
ooboo-+4900000bOU0—+490 zOOODOODOOGLEOMOOODOOOODOOOO
uoboooboooobbooboobooooboooobbooboboobbooboboooobooo
OO0OSeries1, 200000000 WeightMOODOOOOOOO

e 000 (Run1-11, Run 1-12, Run 1-13)

e 000 (Run2-4)

e 00 (RUn2-6)0000CDOOOO 400~600gall OO DOOODO

48




] ]
X N N I 100 gal o e 100 gal
— — — — 300gal — — — — 300 gal
— —- —- —- 400 gal — —- —- —- 400 gal
o i ST | 600 gal 3 500 gal
% K2 LAY | 1 W N 600 gal
E E
I S o
< @
o Q@
) [
[&] [&]
Q Q
< <
-10p -10p
-0.4 -0.2 0 0.2 0.4 -0.4 -0.2 0 0.2 0.4
Y/D Y/D
(a) Series 1, Weight L (b) Series 1, Weight M
] ]
100 A~ | o feeee-- 100 gal Y A A R 100 gal
— — — — 300gal — — — — 300 gal
— —- —- —- 400 gal — —- —- —- 400 gal
S 500 gal Q 500 gal
R I S O VR T | ) S R 600 gal K A S | N 600 gal
E E
I S o
< @
o Q@
) [
O [&]
Q Q
< < o
?
-0.4 -0.2 0 0.2 0.4 -0.4 -0.2 0 0.2 0.4
Y/D Y/D
(c) Series 2, Weight M (d) Series 2, Weight H

u-48 0bouooobooooo-aoog

0-49000000000Y¥00000000000O0-410000000000000000
oooooooooooooboooobbooobooboboOoooboboo 20000 booooDbboOoooD
goooO0o0o0ooooooooDooCoOoOoOoO0oU0U0oUoooooDoo(@E@ooooooIDo
0)oo0ooo0ooooooooo0ooooooooooooo@oooooocnNpoon)o
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u-4900000bO0bO0bO0bO0ObO0ObObLODODODODODODODODODODO
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L Pattern I
Pattern |

Pattern Il i

Pattern |

-2F | .- -2+ .
s Kobe N
O -4r O  -4f 4
N N
Measured
- - with loadcell
A Measured »h )
with loadcell 400 gal Estimated from
-6l . i —6k strain gauge data
O Estimated from
strain gauge data
i Experiment 7 i Experiment |
gl "1 Calculation Kobe 8 Calculation
-100 0 0 100
p (KN/m?) p (KN/m?)
(a) pile N-1 (b) pile S-1

0-49 000000000000 (Run1-1%1-13, Run 2-4, Run 2-6)

Lateral Load
9 =

Z

|
: Direction of
Movement
Pattern | : ~ of Soil Pile Movement
[
Patern ] 1/ 1/ Movement ; Pile Kokz
| —» of Soil Depth K.nz w.,g ok
(AAAY Ve

) yztang
Pile Kok

W= 45% @I2

(a) Movement of pile and soill (b) Pattern | (c) Pattern Il

U410 00000000000

gboboobooboobooobobo pybboobobooOO0ODbDODOODDOODODOD
gbboobuodgboboobobooboobboobooobbooboobobobobooboon

45 00000-000000 (pydD)

0-4.110 Run 1-120 Run1-13 (1 00 500,600 galJ 00 t=20~21sed] 00000000
GL -0.35m,-0.75m (z/D| =28, 6.0)00 pyD OODO00000000000000 900 py
000000000000y000DO00000000000-411000000000000
0000000 pd000000000000O0000000000000000000000
00000000000000000000yDO0000000000000000 S0000
000000000 MNOOOOOOOOOOOO0000O00000000MOO00NO
0000 SO0000000000000000000000000000000y/D0O000
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N-3 M=3 S-3 ' N3 M=3 Is=3 '
— 1= e &
N-2 M2 ) ’ N<2 M-2 S-2 ]
£ — /—4 El 1D
o r o I T )
N-1 TV ) ' 40FN-1 " Imm " Ish Q
50} + + 1 I 1 1
| = 7P L
-50F + I T T
‘ ‘ ‘ ‘ ‘ ‘ -40f ]
-01 0 o1 -0.02 0 0.02
y/D y/D
(d) Run 1-12 (GL-0.35 m, 20-21 sec) (b) Run 1-12 (GL-0.75 m, 20-21 sec)
FN-3 " fmo3 " fs3 e IN-3 L Is-3 '
il e
‘N2 I YIs5 = _N—2= I TVEE) 1s-2 ]
g — T s C—C
o o
100f N1 v ) ] N_1 M-1 1 ’
0 Y — —) /——"/q 0 //) //
s (;//V —1 1~
_50.
-100} 1 1 ]

-02 0 02 -0.02 0 0.02
y/D y/D

(c) Run 1-13 (GL-0.35 m, 20-21 sec) (d) Run 1-13 (GL-0.75 m, 20-21 sec)

0-4.11 Run1-12,1-131 00000000 GL-035m,-0.75mO0000 pyODOO

0000000o0o0oo0oo00000000000

00000000000000000 pyOOOO0ODODDOOOO0O0O0O0D0D0D0O000O0OO0
0000000000000000000000000000000000000000000
000000-41200000000000000000000000000000000000
0000000000000000000000000000000000000000000
00000000000000000000000000oooo%*®™0oooooooooad
0000000000000000000000000000000000000000000
ooooooog
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1of GL-0.26

0

5L-0.26m ‘ m
f"j 1 50
o=
S —7
_10 ‘ PR 1 _s0b
10l 45m ] 50@L—0.45n4
0 y 0 < >
-10} ; 1 _sof (f
__10f -0.65m ] 5OGL—O.GSar
£ 1 /
2 0 /) 0 LV
~— Y
= _10f { -sof ¥
GLo0.85m
10¢ 50} OA’S_Z
0 0 ;,
i y
-10f i -50FN-
GL-1.10m 'GL-1.10m GL-1.10m ‘ GL-1.10m
10y 1 20t 50f {1 50p
0%_ v 0 K 7 0 0 j
A i L:“!'".
—10k 1 -20f -50¢ -50
-0.001 0 0.001 -0.02 0 0.02 -0.05 0 0.05 -02 0 02 -02 0 02
y/D y/D y/D y/D y/D
a) 100 gal b) 300 gal ) 400 gal d) 500 gal e) 600 gal

0-4.13 0O N-2,S-20 0000000 pyOOOORun2-6000 (DO0:0 S-2,00:0 N-2

041300 Run2-6Q00OD0O0O)000OD0ODO0O0O S-2,N20000 pyOOOooooooOOO
oOoooOooOOoO0oOoOOooboOoooobOoOoboOoobooOooos,e0bDboboOooOoOooDoOooO
0000000000000000000000000000000000000 pyO0O020
u-4i14bgboouobobooboobobbouobobbobogbuooboboobang
gboooboobobbobooboobobbou-4140000 pyo oo g
oooobooooooobooooobobOoobobobbooooDbbUbOUUoOoDOO s-200 N-2
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— T - L
I GL -0.60m ] L 4
(\lé c\|g : :
o I ] o . l
PP B R R il R R i
-0.1 0 0.1 -0.1 0 0.1

y/D y/D

0414 0000bo0bobooobuooboonbob pyooo

O pyDODODODODODO0O0OOOO(0-413)000000000000000000 pydOO
(0-414)000000
0000-415000Run1-120 t = 20~ 21secd 000000 S-1, GL-035mO 00 p-y
0000000000000000000000BOO0O0y0000000000O000pyOO
O0B-»COO0OOO0yO0O0O0O0OOOO0O00O0O0OOO0O00O00OO0O000000O p0O0O0O0O
(C-»D)0000000000000000000O0000O0000000000000000
000000000000000000000000000000000000
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0000000000000 000000000000000000CORuN1-900 Run1-13
(0D O 100~600 gal)d t=20~21sedd 000 GL-0.35m,-0.75mO0 000000000000
Run2-6 0 00O 100~600 ga)0 00000000 5 6000000 GL -0.26 m,—0.65 m,—1.10
mOOO0O00O0O0OO0O0O000000000000000000000 p00000y00O0O0O00O
000000000000000000000000000000000 Run1-120 t=20~ 21
sec0000000 S-1,6L-035mO00 pyDODODO00-415000000000000p,y0
00000 (Prae Yma) 00000000 (Pmin, Ymin) D00 (0 P,QODOODO0OD)O0O0O0O0 py
000000000000000 pmaxd Ymax 000 000000000000 0000000C
000000000000000000-41600000000y0000000 SO000000y
O000000NOCOOOOOOOOO000-4160 ()000000000000000000
00000000000 00000000000000000000000000000000
0000000000000000000000000000000000000000000
0000000000000 000000000000000000000-4.160 (ii)~(v) 0O
00000000O0000ON,M,SO000000000000 (CO0O0N-1,N-3)00000 (00
ON-2)0000000000000000000000
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pmax N)

50r

T
Ymin
r Q Prin
—6.1 0 011

y/D

p (KN/m?)

o

0-4.15 py0D0OOOO (Run1-12, GL-0.35 m, Pile S-1)

00 (py) 000000000000 (Pmax Ym 000000000000 S-1000000
00000000 pmax000 000000 Series1, 200000000000000000
000-417000000000000000 (Pmins Ymn) 00000 N-10000000O000
0000-41800000000-4.17,41800000000000000000000000
0-4.19,42000000000000 Rund00-4.16 0000000 0Run1-900 Run 1-13 (0
00 100~600 gal)d t =20~ 21 secd1 000 GL-035m,-0.75m0 000000000000
Run2-6 (000 100~600 ga)0 00000000 5, 6000000 GL -0.26 m,—0.45 m,—0.65
m,-0.85m,-1.10m000000000000000000000000y000000000
0000000000000000000000000000000000000000000
000000000000000000000000000000 yDO0O0O0O0O0000000
0000000000000000000000000000000000000000000
000000000000 1%000000 (yD=001)00OO000000 7=02~05000
000000000000000000,70000000000000000000004000
00000000000000000
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(iv) Pile row S

(iii) Pile row M

(ii) Pile row N

(i) Pile S-2, M-2, N-2

<
—HNm{O AN
i oS < &b
1 \
o A |
40
e 4m|oc \ *4
0 1 Z I
° N ° A
= 10
8 |
1e
o
o 42 |
o <
T 1
o n " " n
! o o o
o o
- 7
(Gw/n>y) d (umn) d
o TTT 1
S 533 |° ==
(NS !
_ 40]s d
L 1] Z I
°a °a
= 1 =
N
1 1o
o
~ N
I 13
L — T = R—
- J g
! Gumnend !
<
o
S
N
S
o
0 z
a ° o
= =
N
o
! s
] 3
T — ? FCE
S S = T
<
o
=
N
o
S
Q o 2
> >
N
=
o
I
<
o
R Rl =
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Ex o 2 x O x o

0.2

-0.2

0.2

-0.2

y/D

y/D

D

/!

Y

y/D

Y.

-50f

-50}

(d)

Run 2-6

GL -0.65m

0 0.05

y/D

-0.05

0.05

0
/!

-0.05

.05

0
/!

—-0.05

0 0.05

y/D

-0.05

y/D

y/D

—20}

e)
Run 2-6

(
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0 0.04

0.04 -0.04 0 0.04 -0.04
y/D y/D

0
/!

0 0.04 -0.04

y/D

-0.04
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U416 0000000000000 O0OO0O0O0O0O00O0O00000
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-0.35m

GL-0.75m
10~11sec

20~21sec

GL

t
t

y/D

0.2

0.1

[To) o

(=)
(*Sdyd=)U

—

y/D

- 0

o

-

y/D

-

y/D

y/D

y/D

— n

o
(-sd;d =)l

(=)

0.2

0.1
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1. Sinusoidal wave, 300 gal, Weight N, (Run 1-1)
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2. Sinusoidal wave, 300 gal, Weight N, (Run 1-2)
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3. Sinusoidal wave, 100 gal, Weight L, (Run 1-5)
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Acceleration (m/secz)

85

1rpileN-2  {fGround |FPile N-2
1
of HF -
E
0 _i -1f 4L L
o
-2F . -
-1
| S - | I | T T N A T | 1 | 1
-6 0 6 -6 0 6 -0.001 0 0.001
Displacement (mm) y/D
1_|||||||_|||||||_||||||_|||||||_|||||||_|||||||_|||||
O_ — H — — — —
_l_ - - - - - -
_2_ - - - - - -
_3 1 11 lpono slecl 11 lpon7 slecl 1 1 lpln4 slecl 1 11 lp'znl slecl 1 11 lpzng slecl 1 11 lpgns slecl 1 11 1942 slecl
-4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4
Displacement (mm)
T T T T T T T T T T T T T T T T T T T T T T T T T
o 1k - of 1k -
-1t . L ’E‘ -1k Jk L
-
_2_ . - o _2_ 4+ -

-3 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 -3 1 | 1 1 1 1 | 1 1 1 1 |
-04 0 04 -04 0O 04 -04 0 04 -2 0 2 -2 0 ) 2 -2 0
Bending moment (KN-m) p (KN/m?)

2_ -
_2_ -
1 | 1
2_ -
_2_ - r
1 | 1 rd 1 | 1
2F - L
0_’ : :
_2_ - -
1 | 1 1 | 1 1 | 1 rd 1 | 1 rd 1 | L rd 1 | 1
-0.001 0 0.001 -0.001 0 0.001 -0.001 O 0.001 -0.0010 0.001 -0.0010 0.001 -0.0010 0.001
y/D y/D




4. Sinusoidal wave, 300 gal, Weight L, (Run 1-6)
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Acceleration (m/secz)
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5. Sinusoidal wave, 400 gal, Weight L, (Run 1-7)
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Acceleration (m/secz)
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6. Sinusoidal wave, 600 gal, Weight L, (Run 1-14)
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7. Sinusoidal wave, 100 gal, Weight M, (Run 1-9)
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8. Sinusoidal wave, 300 gal, Weight M, (Run 1-10)
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9. Sinusoidal wave, 400 gal, Weight M, (Run 1-11)
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10. Sinusoidal wave, 500 gal, Weight M, (Run 1-12)
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11. Sinusoidal wave, 600 gal, Weight M, (Run 1-13)
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12. Sinusoidal wave, 100 gal, Weight M, (Run 2-02)
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13. Sinusoidal wave, 100 gal, Weight M, (Run 2-13)

(m/secz)
A O b |'4 o [

Displacement Displacement Acceleration
(mm)

/

D
(mm
o

Acceleration
2.
(m/sec”)
o

Rot. Acc.

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

""" lllIIIHIHHIIIHHHII||lHlHHHHllHIIIIHlHHHHHHII
,,,,,,, R A P

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

|||||m|n||||||lm|||||||ml|||||nl|||||||||1||l|||||H|I||||
[lllIllllmllll"I'HHI||ll||[”||u|||!l”|||||||H|H||l|'m|r

l““”lll!HHHll !Hmmlmmmmimu muxm

HHIHll'l!HHIHHN!HNIHHHHIHIllIHHIHHIHIHIHHHHHI'

Time (sec)

104



Acceleration (m/secz)
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14. Sinusoidal wave, 500 gal, Weight M, (Run 2-12)
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Acceleration (m/secz)

G.L. (m)

G.L. (m)

p (kKN/m?)

T T T T T T T L | T L | T
k- - GL+0.86 m] 1FPile N-2 Ground Pile N-2
,,,,,,,,,,,,,,,,,, of - ~
E
0 _ -1k Jk L
o
777777777777777777 ok 4k L
11 Rt EEER . . .
-0.1 0 0.1 " 40 0 40 -40 0 40 -01 0 oO1
Y/D Displacement (mm) y/D
1F LN | O O | I L B I B B B I B B B B LA B B | L B B B
oH - - - - -
| | | | | | I
/ N\ \ / /
-1+ L L L L L
-2 L L L L L
Y 10.00 sec , ., 1p.07 sec ., 1p.14sec ., 1p.21sec , ., 1p.28 sec , ., 1p.35sec ., 1p.42sec
-40 O 40 -40 O 40 -4 0 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40
Displacement (mm)
T T T T T T T T T T T T T T T T T L . — T T T T T
0 - - of 1k -
-1t 4k L TE\ -1k Jk L
i
_2_ 4k - o _2_ 4+ -
-3 1 | 1 1 1 | 1 1 1 1 | 1 1 -3 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-4 0 4 -4 0 4 -4 0 4 -100 0 100 -100 O 2100 -100 0 100
Bending moment (KN-m) p (KN/m?)
80F F F a0F C
40t - - B -
of - - o -
_40_ - - - -
-80t 1 | 1 C 1 | 1 C 1 | 1 -40p TR P P R TR RPN B B I B
80 r r 40+ L
40 - - < i
oF W o |- J Z o @ -
—-40r r r o I r
-80L 1 | 1 C 1 | 1 C 1 | 1 —40p TP P B | TP PR B | L TP P PR P |
80F = = aoF C
40 - - - -
0_ - - @ 5
-40 - - -
-80t 1 | 1 C 1 | 1 C 1 | 1 L.l L.l TR RPN B B I B
-0.1 0.1 -0.1 0.1 -0.1 0.1 -0.04 0 004 -004 0O 0.04 -0.04 0 0.04
y/D y/D
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15. Increasing wave, 100600 gal, Weight M, (Run 2-6)

Acceleration

.”.lliillliillllilllHHHHlI‘HH
A

Displacement Displacement

y/D

=
o

Acceleration
2
, (m/sec”)
o

=
o

Rot. Acc.

Rotation

Time (sec)

108



15.1 Increasing wave, 100 gal, Weight M, (Run 2-6,~712 sec)
i R GL0.86 m) itpileN-2  {fGround = |FPileN-2
< |
RN\ U oF 1t i
3 —
= ‘ E
g o ‘ g -1t 1t -
] ' .
5 | ©
s Nl -
g | -2 1 -
< :
_l- ,,,,,, T T ) -
; ; R | S T - I T T T T N T | T N N N
-0.001 0 0.001 -6 0 6 -6 0 6 -0.001 0 0.001
Y/D Displacement (mm) y/D
1_| LN I | L e L e | I B | L O | L N B B
0_ - - - - - -
E
S i i i i i i
©)
_2_ - - - - - -
. | I7'QO|SeF [ | |7-Q7.SeF [ | |7-1-4.SeF [ | |7.21|SGF [ | |7.Z8ISGF [ | I7'$5|Se? [ | I7'42|Se$:
-4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4
Displacement (mm)
LI I LI I LI I I —— — — — O ——— —— —— ] S ——— — — —
of IS A 0
= -1} | L —~ -1f 1F L
E™ E
- —i
O ot 1k L O L, 1L N
-3 1 | 1 1 | 1 1 | 1 T SR SR NN N N | T SR S N N B | T SR SR NN N N |
-01 0 0.1 -01 0 01 -01 0 01 -10 0 10 -10 0 2ZI.O -10 0 10
Bending moment (kN-m) p (KN/m?)
L L L ab L i
- - - ok 3 2
_4_ - - B B B
-8 1 1 C_ 1 4 1 1 1 C_ 1+ 1 1 4L 1 | 1 L 1 | 1 L 1 | 1
8 i C 4 [ L
E 7 i i E T L L
£ or y y g o y y
o -4r - - o r L r
-8 1y C_1 1 T N R N T | AL 1 | 1 L 1 | 1 L 1 | 1
i B B af i i
- - - ok 3 2
_4_ - - B B B
-8 1 1y C_ 1 4 1 1 1 C_ 1+ 1 1 4L 1 | 1 L 1 | 1 L 1 | 1
-0.002 0 0.002-0.002 0 0.002-0.002 0 0.002 -0.005 0 0.005-0.005 0 0.005-0.005 0 0.005
y/D y/D

109



15.

Acceleration (m/sec2)

p (kKN/m?)

2 Increasing wave, 300 gal, Weight M, (Run 2-6, 220 sec)
o — “olosm e S S e e e 45
————————————————————————————— ok L |
,,,,,,,,,,,,,,,,, g
0 _ —1F Jk L
o
,,,,,,,,,,,,,,,,,,,,,,,,, \ ok 41 L
S B
i i 31 | T | T T TR N N S | 1 | 1
-0.02 0 0.02 -20 0 20 -20 0 20 -0.01 0 0.0
Y/D Displacement (mm) y/D
1_| LA S s B i | L L | L e e | L B | e e | L Y B B
0_ - - - - - -
| |
_1_ - - - - - -
_2_ - - - - - -
3L  1p-00seq |, , ,1pO7seq|l, , ,1pl4seqi|l, , ,1p2lseq||, , ,1p-28seq|l, ; ,1p-3pseqil, , ,1p42%eq
-20 0 20 -20 0 20 -20 0 20 -20 0 20 -20 0 20 -20 0 20 -20 0 20
Displacement (mm)
T T T T T T T T T T T T T T T T T T T T O T T T T T T T T [ T T T
of ] 0
-1t 1t i ~ -1F 1+ R
' E
i
ol 1 I St 1t i
-3 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 T R N A R B T R N A R B T R N A R B
-2 0 2 -2 0 2 -2 0 2 -40 0 40 -40 O 240 -40 0 40
Bending moment (kN-m) p (KN/m?)
20 3 3 10+ L L
oF - - = - -
20t - . -10f - -
A | L A | 1 A | 1 NI BT | AT NSRS | AFE T N ST
201 - - Ng 10F - -
TG [ 2 o : :
-20F - - =-10- - -
N L 1 L N L 1 L N L 1 L PR 1L AT | T R | SR T R R
L L 10+ L L
- - _10- - -
| L A | 1 A | 1 I P | IR BT | AR B
-0.01 0 0.01 -0.01 0 0.01 -0.01 0 0.01 -0.02 0 0.02 -0.02 0 0.02 -0.02 0 0.02
y/D y/D
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15.3 Increasing wave, 400 gal, Weight M, (Run 2-6, 225 sec)

1tpileN-2 [ Ground " |Fpile N-2
N/-\
8]
é —
c E
.g _i —-1r 1r -
= )
5 (@]
©
3 -2f 1 -
<
-3L 1 | 1 1 1 1 | 1 1 1 | 1
-40 0 40 -4 0 40 -0.05 0 0.0
Displacement (mm) y/D
T [T T T T [T T T T [T T T T [T T T T T
RN i R i \
e | \ |
3 L L L L
O
L L L \ L
_3lu , 22.00sec ||, |, 2207se¢c||, | 2214se¢c|| , , 2221sec|| , , 22.28sec ||,  , 22.38se¢ ||, | 22.42se¢

-40 O 40-40 O 40-40 O 40-40 O 40-40 O 40-40 O 40-40 O 40
Displacement (mm)

T T T T T T T T T T T T T T OF T T T T T T T T
O_ — - —
= -1t 1t - ~ -1f 1F L
E E
- i
O ot 1k L O L, 1L N
-3 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 | 1 1 | 1
-4 0 4 -4 0 4 -4 0 4 -50 0 50 -50 0 250 -50 0 50
Bending moment (kN-m) p (KN/m?)
40t - - 30r i i
of- - - o - -
-40F r - -30+ L L
TN TR N RN TR S| TN TR N N T N TN TR N N N S| 1 TR PR B Ll | TR B 1
~ 40F - - ~ 301 i i
3 Y - - -
\xz_/ oF _m - é 0_— N O N
o i i i o - - -
-40F - - -30} L L
T TR T N T N | T T T N R B T T T I N N | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
40 - - 301 i .
T 1 i 1 i 1 =30 1 L 1 L 1
-0.04 0 004 -004 0O 0.04 -0.04 0 0.04 -0.04 0 0.04-004 0O 0.04-0.04 0 0.04
y/D y/D
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15.4 Increasing wave, 500 gal, Weight M, (Run 2-6, 280 sec)

of T T pow——— 1Fplenb  JFGound " |FPient
- | .
8]
g H N\ of .
é —
c E
e 0 5 -1F 4k L
= g
§ (@]
8 L
Q —2r r i
<
-10f -3 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-40 O 40 -40 O 40 -0.2 0 0.2
Displacement (mm) y/D
1[ T LT T T T LT T T T LT T T T LT T T T T
0_ - -
J \
—~ Id ~N
E , \
| -1F ol o
O
_2_ - -
S 27.00sec || , |, 2707sec||, | 27{l14sec]|| ,  , 2f2%isec| , ., 2f28se¢c|l , | 2735sec|l , | 2{42sec
-40 0 40 -40 0 40 -4 0 40 -40 0 40 -40 0 40 -40 0 40 -40 0 40
Displacement (mm)
T T T [ T T T T T T [ T T T T T T [ T T T oF" T T T L T T T T T T T T T
O - — - -
~ -1F 1r - — —1F 1r o
£ E
— —
O ot 1k L O L, 1L N
.| S — | R | T R N A R B T R N A R B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-4 0 4 -4 0 4 -4 0 4 -100 0 100-100 O ) 100 -100 0 100
Bending moment (kN-m) p (KN/m?)
- - - 30 - - -
401 o o o = o
(0] = — — O = —
_40_ - - - - -
- - - _30_ - -

30

p (kKN/m?)

IS
T ? T ? T T T
T T T | T T T
T T T | T T T
| p (KN/m?)
C|) T T ? T T T
T T T | T T T

|

1 | 1 1 | 1 1 L.l L.l TR RPN B B L.l L.l
-01 0 0.1 -01 0 01 -01 0 01 -0.04 0 004 -004 0O 0.04 -0.04 0 0.04
y/D y/D
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15.5 Increasing wave, 600 gal, Weight M, (Run 2-6, 385 sec)

T T T T T T L L | L A A | N T T T
o : L GL+O86m- 1Fpile N—fz Ground Pile N—b
R , , ,
[8] |
& b . o 1+ -
E | -
c 1 é
% 0 ‘ _ 1+ 4k L
§ . (@]
8 - -
3 | -2r T -
< "
=10 - - l l l | -
i i i i i i 31 I T T | T N N IR SR N | T TR T N T N
-0.2 0 0.2 -40 0 40 -40 0 40 -0.2 0 0.2
Y/D Displacement (mm) y/D
1_| LA T | I | L O | L | B | L O B N B
0_ - - - -
l\ /J /J L\
€ \ / \
~ _1L L L Lo L
3 ,’
o I
J |
_2_ - - l - -
gl 3?'O|0 SeCll 4 3?'07 SeCll 4 3?'1|4 SeCll 4 3?'211 SeCill 4 3?'2|8 SeCll 4 3?'3|5 SeCll 4 3?'42 Sec,
-40 0 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40 -40 0O 40
Displacement (mm)
T T T T T T T T T oOF T rrrrgE [ T E T
O_ — - —
= -1t 1t - ~ -1f 1F L
E E
- i
O ot 1k L O 1L R
-3 1 | 1 1 | 1 1 | 1 T SN N NN SN SO T I TN N [N TR S I A Y TN T AN SN NN |
-5 0 5 -5 0 5 -5 0 5 -100 0 100 -100 O %OO -100 0 100
Bending moment (kN-m) p (KN/m?)
100F F F F F F
sof - - o [ [
of- - - o - -
50} - - _a0l I i
=100k v oy ot i PR TP SR TPl P PR S S Nl | i e Tl S s Tl I i T T Tl Sl e i i i Tl T M Sl Sl T |
100F F F F F F
—~ —~ 40} L L
£ [ [ £t - -
g2 o - e |- g2 o - 0 -
o -50f r r 2 4ok i i
bt (00 ] TN BTSSP | S Sl B TP | i St Tl PO T ol T G W S Tl T ol Tl T T AN St Tl T I ol s TG Sl S St T
100F F F F F F
so} : : o : :
o > |- oF - Q -
-50 - - a0l I i
—100E v by i PR TP SR TPl P PR S S Nl | i e Tl S s Tl I i T T Tl Sl e i i i Tl T M Sl Sl T |
-02 0 02 -02 O 02 -02 O 02 -0.06 O 0.06-006 0 0.06-0.06 0 0.06
y/D y/D
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16.
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16.

Acceleration (m/sec2)

p (kKN/m?)

1 Increasing wave, 100 gal, Weight H, (Run 2-10,8.0 sec)
T T T T T T 1F o T b 10 T T [T é
1 1 - GL+1.02m Rile N- Ground Pile N-
1 R 1 1 1
\ ; of i i
‘ | £
0 ; ; _ —1F Jk L
| | O
| | 2t I :
-1 ! N
i ; i i ; ; -3 1 | 1 1 | 1 1 | 1
-0.002 0 0.002 -5 0 5 -5 0 5 -0.001 0 0.001
Y/D Displacement (mm) y/D
1_| LN S I | e e e e L I | I B | L O o | O N O B B
0_ - - - - - -
_1_ - - - - - -
_2_ - - - - - -
. | IS'QO |SeF [ | I5'Q7 |SeF [ | I5':l‘4 |SeF [ | |5-7rl |Se$: [ | I5'28 |SeF [ | I5'$5 |Se? [ | I5'A|‘2 |Se?
-4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4 -4 0 4
Displacement (mm)
T T T T T T T T T T T T T T T T T [T T T T T [T T T T T
of gl B 0
-1t 1t L ~ -1f 1F L
' E
i
ol 1 - Ol 1 i
-3 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-02 0 02 -02 O 02 -02 0 02 -20 0 20 -20 0 ) 20 -20 0 20
Bending moment (kN-m) p (KN/m?)
10F - - 4t I i
of- - - o - -
-10f - - -4t i .
C 1+ o 1 1 I T T N T C_ 1+ 1 1 Lo | 1 1 | 1 1 | 1
10 B B & 4 i i
L L L g L = -
o - M - £ o - -
-10f - - = at i .
C_ 1 1 1 T T TR N T | T N R N T | Lo | 1 1 | 1 1 | 1
10f - - i i
O—W - M - L L
-10F r r L L
C_ 1 1 1 1 1 C_ 1 4 1 1 1 C_ 1+ 1 1 1 | 1 1 | 1 1 | 1
-0.002 0 0.002-0.002 0 0.002-0.002 0 0.002 -0.005 0 0.005 -0.005 O 0.005 -0.005 0 0.005
y/D y/D
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16.2 Increasing wave, 300 gal, Weight H, (Run 2-10, 247 sec)
L ! B I 'GL*!'I'l.OZ! m 1F Iile IN—& ] 'GII’OlilndI Y 'Pille N—b
o 4l
o N\ N\ -
c . N 1 é
2 NG g -1t 1 I
= ' ' 4 .
5 o™~ \ o
[} . . 1
-77;77771‘7777; 777777777 :7777}7777:77- —3L 1 | 1 1 1 1 | 1 1 1 | 1
-0.02 0 0.02 -20 0 20 -20 0 20 -0.01 0 0.02
Y/D Displacement (mm) y/D
1F L — T T T 1 77 T T 1 T T 1 77 T T 1 17 T 1 17 T T 1 T
0_ - - - - - -
|
E
S i i i i i i
©)
-2 L L L L L L
| 12.00 sec ., 12.07 sec ., 1214 sec . 12.21 sec ., 12.28sec ., 12.3psec . 1242 sec
-20 0 20 -20 0 20 -20 O 20 -20 O 20 -20 O 20 -20 O 20 -20 O 20
Displacement (mm)
T T T T T T T T T T T T T T [T T T T T [T T T T T
o [ i 0
= -1} | L —~ -1f s -
E” E
- i
O ot 1k L O L, 1L N
-3 1 | 1 1 | 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-1 0 1 -1 0 1 -1 0 1 -40 0 40 -40 0 ) 40 -40 0 40
Bending moment (kN-m) p (KN/m?)
L L L 151 r r
20t - - - - -
of- - - o - -
-20F - - L L L
L 1 1 L 1 | 1 L 1 | 1 -15p TR P P R RN B oo len o
L L L 151 r -
£ e | ﬁ R | :
A I N T A A
oot - - a | L L
L 1 1 L 1 | 1 L 1 | 1 -15¢ I PR B | T B NN BN
L L L 15 r -
20 - - - L L
_20_ - - - - -
L 1 | 1 L 1 | 1 L 1 | 1 -15p TR P P R RN B IR NI
-0.01 0 001 -0.01 O 0.01 -0.01 0 0.01 -0.02 0 0.02 -0.02 0 0.02 -0.02 0 0.02
y/D y/D
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16.3 Increasing wave, 400 gal, Weight H, (Run 2-10, 222 sec)

'IIZ’iIeIN—fZ ' 7 '(IBI’OlIJndI

- pile N—2

=

B  oLsLozm
N’-\ L e
8]
& 4 of 1k -
é | —
c E
S 0 4 -1F 1k -
= )
§ - (@]
< L
-8r ; i i i i i i i i ir -3 1 | 1 1 1 1 | 1 1 1 | 1
-0.1 0 0.1 -40 0 40 -40 0 40 -0.05 0 0.05
Y/D Displacement (mm) y/D
1F T T T T [T T T T [T T T T [T T T T [T T T T [T T T T [T T T T T
0_ - - - - - -
| [ I
E
47N I I I I I I
O
_2_ - - - - - -
N 19.00se¢ || , ., 19.07se¢c || , , 1Pld4sec|| 6 , 1p2lsec||, | 19.28se¢c|| ., 19.35sec| , , 1D.42sec
-40 0 40 -40 0 40 -40 0 40 -40 0 40 -40 0 40 -40 0 40 -40 0 40
Displacement (mm)
T T T T T T T T T T T T T T T oF T T T T[T T T T T[T T T T T
O - . -
~ -1F 1r - —~ —1r 1r -
£ £
— —
O ot 1k L O L, 1 N
-3 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-4 0 4 -4 0 4 -4 0 4 -100 0 100-100 0 ) 100-100 0 100
Bending moment (kN-m) p (kN/m?)
401 r r 20 r r
(0] = = = O - =
-40F r r -20r r r

-40f - - -20F - -
(IR TP I | TP P PR P | TP BT B | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
40r - - 20- - -
-40F - - -20 - -
TP RPN P R TR RPN PR | TR RPN B B TP R B PR TR R P TR R R B
-0.04 0 0.04 -0.04 0 0.04 -0.04 0 0.04 -0.04 0 0.04-004 0O 0.04-0.04 0 0.04
y/D y/D
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16

Acceleration (m/secz)

G.L. (m)

G.L. (m)

4 Increasing wave, 500 gal, Weight H, (Run 2-10, 227 sec)

10-' T GL+1.02 m| 1FpileN-2  [{fGround = ' |[Pile N-2
,,,,,,,,,,,,,,,,,, O -1+ =
E
4 -1 T -
O]
_2_ . -
i i i i 31 I T T | T N N IR SR N | 1 | 1
-0.2 0 0.2 -40 0 40 -40 0 40 -0.1 0 01
Y/D Displacement (mm) y/D
T [ r 1 171 [ r 1 17 T 11 [ 1 171
C i i IR
N \ /
|
|
L | L L L
| 24.00 sec | | 2407 sec | 2fldsec |, 2f21 sec | | 2f.28sec . | 2f3psec | 2pA42sec
-40 0O 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40 -40 O 40

Displacement (mm)

O_'"I"'__'"I"'_'"I"' OF - T T T T T 1 T T T T T T 1T
B It - E 1 7 ﬁ
i
-2F 1F - O L, 1L L
.| S — | N | [ TR T N N S | [ TR T N N S | T N N T R I R T N N N
-4 0 4 -4 0 4 -4 0 4 -100 0 100 -100 O 100 -100 O 100
Bending moment (kN-m) p (kN/mz)
80F - - 40+ - -
a0k C C L L L
ol - - ol L L
z z : - :
-80p I | I I | I L By PR B | PR IR | MU B
80 - - __40f - -
SR I W/ -5 R P
O'_F? [ | - :‘42, oF B O N
40 : : e I I
-80p Y, I | I | I L Y R B | VU R | F R RN
80f - - 40t - -
a0k C C L L L
oF P —— == —&4 of L O -
—aofF C C L L L
-soF T | R | f-o-o -a0f b b

-01 0 01 -01 0 01 -01 O
y/D

0.1

| T
-0.04 0 0.04
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16.5 Increasing wave, 600 gal, Weight H, (Run 2-10, 232 sec)
] e N S o R i o
GO e S
3 : o 1+ -
£ N N ] =
c 1 1 é
g 0 | | S -1t 1+ i
] ' ' .
5 : : ©
Q 1 1
3 : : -2r r -
< -10 ' .
; i i ; —3LL 1 L1+ 1 T N T I T N 1 1 1 | 1 1
-0.2 0 0.2 -60 0 60 -60 0 60 -0.2 O 0.2
Y/D Displacement (mm) y/D
1_| T T T T[T T T [ T T T L A | L L | L L IO O
0_ - - -
/) \\ (\
E || ‘ l
R - - [
©)
-2 L L L
3k Zp.OIO baacll | N 29'07 iacll | N 29']14 iacll | NI 29'2|1 biacll | NI 29'2|8 iacll | N 29'3|5 biacll | NI 29'4|2 3e9
-40 0 40 -40 0 40 -40 0 40 -40 0 40 -40 0 40 -40 0 40 -40 0 40
Displacement (mm)
LI S LI B B T T T T T T N —— ——— (] S —— —— I — — —
ok 0
—~ —-1F = o — —1F ar -
E” E
- i
O ot L L O L, 1L N
.| S - | | T T N I T | T T N A B B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-6 0 6 -6 0 6 -6 0 6 -100 O 100 -100 O 2100 -100 0 100
Bending moment (kN-m) p (KN/m?)
100 - - 60} L L
sor § § i I i
of- - - o - -
-50F - - i I i
_100'| 1 | 1 L1 1 | 1 T f 1 | 1 1 -60f 1 | 1 L 1 | 1 L 1 | 1
100F = = 6oF C C
Z sof : : Tl : : &
f‘z./ O e — = +\BI = é 0_— B O N
o -50r r r o L L L
—100 ! 1 | 1 C 1 | 1 I | 1 | 1 1 -60 1 | 1 [ | 1 [ | 1
100f - - 60} L L
50p § § i I i
oh R S o - O -
50 - - i I i
—100L ] 1 | 1 T f 1 | 1 T f 1 | 1 1 -60p 1 | 1 L | 1 [ | 1
-0.2 0 0.2-0.2 0 0.2-0.2 0 0.2 -0.05 0 005 -0.05 O 0.05 -0.05 0 0.05
y/D y/D
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Kobe wave, 818 gal, Weight M, (Run 1-15)
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18. Kobe wave, 818 gal, Weight M, (Run 2-4)
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Acceleration (m/secz)
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19. Kobe wave, 818 gal, Weight H, (Run 2-8)

P AT

[ee]

2

(m/sec”)
N

|
A O

N
o
o

(mm)

Displacement Displacement Acceleration
(mm)

y/D
(mm)

I
= O
o N

Acceleration
2.
| (m/sec”®)
o

=
o

=N
o O

Rot. Acc.
| (rad/secz)

o

=
o

o
N

Rotation
(rad) o
(@]

=
N

8

e
s <
Ev

o

Time (sec)

124



Acceleration (m/secz)

1rpileN-2 | {fGround ~  |fPile N-2
10
oF = -
E
0 i -1f Jb L
o
_2_ HF -
-10
_ 1 1 | 1 1 1 1 | 1 1 1 | 1 1
-0.2 0 0.2 -200 O 200 -200 O 2000 -0.1 0 0.1 0.2
Y/D Displacement (mm) y/D
1F T L | IR [T T 1 L | L | L B | O O O I | N B IO B
o+ - - - - - -
-1+ L L L L L L
| |
| |
-2 L L L L L L
| l
I |
-3 1 | 82 selc 1 1 | 84 selc 1 1 | 86 selc 1 1 | 8$ selc 1 1 | QQ selc 1 1 | 92 selc 1 1 | 94 selc
-200 O 200-200 O 200-200 O 200-200 O 200-200 O 200-200 O 200-200 O 200
Displacement (mm)
T T T T T T T T T T T T T T T T T T T T T T T
o 1k - of 1k -
-1t 4k L TE\ -1k Jk L
i
_2_ 4k - o _2_ 4+ -
-3 1 1 | 1 1 1 | 1 1 1 1 | 1 1 -3 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-10 O 10 -10 O 10 -10 O 10 -200 0 200 -200 O 2200 -200 0 200
Bending moment (KN-m) p (KN/m?)
F s F 4of - -
40 - - i i i
of- - - o - -
-40F - - ) I )

125

1 | 1
-01 0 01

1 | 1
-01 0 01
y/D

-01 0

0.1




0o B 300FEMOUO

0000000000000000000 DGPILE-3p?220000000000000000
Ooo0oD0OO0O00O0on

000000000000 tj-sandmodéf0 000000000000 000000000O0
000000000 0000000000000000000000000000000O00O
0000000000000000000000000000000000000000

1.: 000 X-00000000YDOOOOO (O0-B.1)

2. Ri=(1+sing)/(l-sing): 00 0OO0O0O,D: 0000000O0O0O0DOO0O

3.C:0000,Ce00000mMODOD0DD000N0N0NONDDNDNDNONONONooon
«0000000000000-B1000000000000 X=1t/t,000000000
Y =def Py ) 000000000000 OR,Ds00000000000-B20000
O00000 oq/os-000000 e-00000 ¢ 00000000000000(@0O000)
00000000000000000C,Ce,mO0000000D000D0D0000000000
Oe-00000 pO000O0D0D-B300000000000000O0OOOODODOOOO
00000000000000000000000000000000000000000000
O0000000000000000000000000000000000O0000O0000
B1~0-B5000000000000 00000000 0000000000000O0

O00000000000000000000000000000 19.6,39.2, 78.4kPa 0 0
00D00-00000000000-000000000-B40000c=0000000000
000000000000000 ¢040000000000000000000000000
O0000000000-BA0000000000D0000O0O0DOO0O-B100000000

‘\XEts/R\ AKO;I./JS

Y=(X -X)/a+ Y,

Df
1 .
-y Compression
f } >»
N > I e
Y Edfs':\;y ' !
* v
age Ve,
0-B1 000000002 0-B2 00000 DfOOO2Y

126



»
>

Inp

(@000-0oooooo? (ooooo-0oooooo?d
0-B3 00000 C,Ce,mOOD

)=
2 -4r
=3 <
NS < D, =65 % i
, <& 0 0=19.6 kKN/m?
e A =39.2 kN/m* |
O 0=78.4kN/m’
0 5 10 15
& (%) & (%)
(0000-000000 (b)OOODDO-0000000
200+ .
L 7= 0 tan 40.0°\ |
£
2 100+ .
=3
~
0 1 1 1 1 1 1 1
0 100 200 300 400
o (kN/m?)
(oooo

U-B4 000000OO0OO

uboboobuod-e40000000000000O0DOODOOOOOOODDOOOOOODO-BS
gooobooobbbooooboboooobobboooobboooobobbooobobboooboboo
gbooooo
gboobooboboooboooboooboobobooobooobobooobboooboboo
ubobobooobbooobbodgbbuoobbooobooobboobbuoobboobboo
Run2-40 2-8000000000000O 1.63¢gem000000000D00000
gboobooooooooooooo-B200000000000000000000O000O0DO0O
uboboooooboooooboboboooobooboboobobobo0o4ao00o0oad

127



80

-8
o
£
é 401 -4
|
Y O  Triaxial test |
. —— Simulation
0 5 10 15
& (%)
(a) 19.6 kPa
200 -8
N
(\IA
£
YA
g 100 -4
I‘_' . .
\) 4 Triaxial test |
) —— Simulation
0 5 10 15
& (%)
(b) 39.2 kPa
400 -8
-
£
< 200 -4 <
Y <
) g
g’ O Triaxial test |
—— Simulation
0 5 10 15
& (%)
(c) 78.4 kPa

O-B5000000000000OO0ODO

0-B1 0000000

ogodded
o0 H (m) 3
oo o (g/en?) 1.63
ooooo v 0.33
oooo C 0.0041
oooo Ce 0.0029
goooooo R¢ 4.7
ooooo (=% 0.66
tjj-sand model a 0.85
ogooooao Dy -0.5
ooooo m 0.3

128



U-B2 000000

Pile Beam Column
ooo d (m) 0.125 - 0.125
0o t (m) 0.0045 - -
ooo L (m) 3.4 3.4 3.4
oooo oy (MPa) 386 - -
ooono E (kN/m?) | 2.0x10° 1.8x 10° 5.0x 10°
ooo A (m?) 3.085x 102 | 3.085x 1073 | 1.563x 1072
000000000 I (m*) 5.107x 10°° | 5.107x 10°® | 2.03x 10°°
Pile Hybrid element
Solid element
(El)solid (EA)solid
: Beam element
(EDpeam EA)peam
El' = (EDsoria* (EDpean
EA= (EA) giia t (EA) peam

U-Be6e U0OOOO0ODOOODOOO

0000000000000000000-B60000000OODODO%2Z229MO000000
00D0)00000000000-B700000000000000O00O0DOO EDDOOOOO
000 100000000000000000000000000 (EN)med000900000
00000 10000000000000000000000000000000000000
00000000 0000000000000D0D0000000000000000D0o0onong
00000000000000000000000000000000000D00000000
O00000000000000000000000000000000000O000O0000
0000000000000000000000

00000000000 (@MO0OD0000000000)00000000000000-0000
O00001.0mx1.0mOOO0O0OO0O0000000000000000O0O0D000000000
0000000000000000000000000000000000000000000
00000000 00000000000000D00000000000000000DO0O0Og
000-B3000000000

0-B800000000000000000000O0O0OOOOOONOONOOOOOO0OoOn
00000000000000000000000000000000(@000)40mx000
20mx000000003.0m00000000DO0000OOODODO00N0O0NOOONDOOOn

129



/ Pile \

7722

A= =1.131[ m?l

.2t
| = = 0.1018 [ m*]
64

E = 2.5x107 [kN/m?]

(E. = (2.5x 106) x 0.1018 = 2545000 [ kN -2 J

pile

J L 0.1x El)pile 0.9x El)pile
/ Hybrid element \

o

(EN),,q = 254500 [ kN - fi (E), o= 2290500 [ kN - A]
Solid element Beam element
1.2m
R E—
1.2m
1.2° 4 m.2*
| = = 0.1728 [m?] | = =0.1018 [m#
12 64
= 254500/ 0.1728 E = 2290500/ 0.1018

E
\ = 1.47x 1G[kN/m2] = 2.25x 14 [kN/mzy

O0-B7 000ODO0OOOOOOOOO(ENODOOOO

U-83 00000000

Pile cap| Supporting column Weight M | Weight H

og (cmd) 97,316 40,909 38,400 43,200

00O 00 (g) 764,900 321,540| 301,820| 339,550
0o (gemd) 7.86 7.86 7.86 7.86

0o (cm?) | 250,000 300,000 32,000 40,000

00O 00 (g) 764,900 321,540| 301,820| 339,550
0o (gemd) 3.06 1.07 9.43 8.49

ubboobbobboobboboobooboxbbobbobboobooboboboaoboo
OO000O0000O00DDOO0OO0ODOOOe999,0DOOoOsS78s80O 00D OoOOOOOODOOO
gbobgoboobooooobobobgobooooooobobobobobooboobobon
ubobooobooooboooobbooboboobobooobooobobooboboobobod
gobogoobooobboobboobbooobooobbuoobboobbooboboo
ubbooboobbooboobbooboo

OO00DOO0000OO00DbOO00D 2000000000 00DOOO0OOO0ODOOOODOOOO
oooooobobObOOO0O000000000000000000ooOOnd 0.004 sec1 05,000

130



Top view

4.0m
X % Weight
-
Xgl_' er’ Support
: : — Pile
o1s5m | | »
20m
Sail
(t;-sand modef)
_ _ 10m
Side view — :>
X, EESEEMESSIERISEE Pl
AN : -
3.0m
Pinned
§ A? Vgl
....... A 1 SR Hi s 6999
P _——— A K : 5788

NIRRT 1)

0-B8 DO0ODOOCOOOO(MOO100)

stepd O 20 sed] (Run 2-04: 4.50324.499 sec, Run 2-08: 4.0033.999sec)) DO OO ODOOODO
000OO00D0O000O00D0DOO000O00oDDbOOo0n0 5%2% 0000

0o0oooooooo-B.9~B.A30 000

0-B.9,Bl00 FEMOODOOODODODOODOOOOOOODOOODOOOODOODOOODOOOO
000000000000 ooogooboooa
00 GL-0.10,-0.45-0.85mO0 000 PileN-1ODOOOODOODODOOOOOODOODODOO
00000 t=7~12sed D0000O0OO0OFEMOO0OO0OODODOOODODOOOODODOOODODOOO
000000000000 DbOO000O00o0oDbOO0o0b0o00ooDbOo0obOo0O 20000000

1. FEMOOOOOOOOODOOOoOooooD-2120 00000000 A-1l0000DO0O0O0O

00 x-x3s000oooooooooon

2. 0000000000DO0ODOOOO0OOODODOOODbOOOn
o000 oo ooooooooboooo
oo oooboooboboooo
Oo0o0oooono FEMOOOODOOODODODOO0O0O0O0OO0OO00Oooooooooooooao

131



FEM

— — — Experiment

LY NBRIANN

.
AW
Ik

7N

~ GL-045m

~ GL-085m
~

PileN-2( . .

S S S
= 7
ﬁmomm\Ev

uonela|addy

1
<
7

Amomm\vmc
uonela|adde ||oy

SN
Q
o

(pes) T
uoneloy

N
o
(w)

Juswade(dsiq

1
N
?

!
o
T

10

1
o o o o
4_ —

(w-N>) (w-N>)
juswow Buipuag uswouw Buipuag

1
o o o
52 F

(w-N>)
wswow Buipuag

12

10

time (sec)

0-B.9 00000 (Run2-4)

132



Rotation Roll acceleration Y/D Acceleration

Displacement

Bending moment Bending moment Bending moment

10

o

(m/secz)

— — — Experiment FEM

T | B A N [ T

| I \ j \

A ‘ | (! \
Y W 1 B A | B Jipt- \Ng\l//\ 1

\ !
/\\. A ,/ \A\ I/\\I\ Nan SN A\N \l\\ I\I\
[ |

= ~ 3 3 \ A~
E 0 — ) \ ~— J/ s J/(\/\\M
< - =7 N> NI N
T e L b
1of PileN-1) . GL-0.85m
~ N~ . / N N\
g ° | N |
-10F T —_— S ]
7 8 9 10 11 12

time (sec)

0-B.10 00000 (Run 2-8)

133



— — — Experiment FEM — — — Experiment
< 10f g < 10f
[S] [S]
@ @
2 £
E E
c c
§e] el
g 0 g 0
) @
© ©
(8] [S]
Q Q
< <
-10 g -10r
-0.4 0 0.4 -0.4
Y/D Y/D
(a) Run 2-4 (b) Run 2-8
0-B11 0000000 0O0OO0OOO0O0OOO0OOOO
40— ; 40 ‘
| = — — Experiment | — — — Experiment
e | o
[8] ‘ [8]
3 : 3
£ 20 I E ‘
© ! © !
n : ()] .
0 I i i i i i i i i 0 I i i i i i i i i
0 1 2 0 1 2
Period (sec) Period (sec)
(&) Run 2-4 (b) Run 2-8
0-B.12 0O0O0OO0OOOOOO (h=0.05)
o Experiment FEM o Experiment FEM
N-1 { M-1 f T S-1 h T N-1 T 1 M-1 f T S-1
L& ® _|Po % 1% %o _ L Id L 8 &L ° 8 _|
0 o [¢) i< o 0 o
o o (o) (o) o [e)
(e} o o o o (e]
— o (e} o o o o —
Eal 3 e\ g e\ [¢ 1 Eaf 1 1 |
— o o o o o - o [¢) [¢)
O O
ot o O] 1L 1L | ot [e] 1L o | |
oo of o (o) o \o
(e] 0 O [o2e) o
-3 1 C)IO 1 1 OP 1 1 P 1 -3 1 C)IO 1 1 C’IO 1 1 CiO 1
-10 0 10 -10 O 10 -10 O 10 -10 0 10 -10 O 10 -100 O 10

Bending moment (kN-m) Bending moment (kN-m)

(&) Run 2-4 (b) Run 2-8

U-B13 00000000 OoOobobOOoOonOd

U-Bl11000b0od0boooboboobouo-b0o0boogbooboooobooobooobboonodgd
gboooooooboobooboobobooobooooooboobDobobyYooo bobobobOo
ubobogbbu-Bi1200000b0bo0boooobooboooobooooobb-BA100-B.A20
gboogbobooboobooboobooboobooboooboobbobboobbobobon

134



0O-B4 00O0O0O0ODOOBNWFOUOOO FEMOOODOOOOOO

oood ooooo
BNWF ooo oo
FEM | 000D0OCOOO oo

O-B30000000OOOO0O0DOOOOODOOOOODOOOGL-20mOOOO0ODOCOO
goboobooboooo

O-B400000D00OO0ODOOODOOOODOOOOOOBNWFOODO FEMOOODOOO
gboooooooboobooboooobobooooboooobooooooo BNWFDODOODO
ooobobooooooobboooo bbb FEMODOOUODOOODOOOODOOODOOOO
agoo

135



00C 0000000 pyDOO

Cl OO

gooooon p—yDDDDDDDDDDDDDDDDDDDDDDDD”DDDDDDD dila-
tancyl0 0000000000000 D000D0000D020000000000000000
goooooooooobooooooooooooogooooooooooooooooooo
oooOol0oooobooooooooooooooooooo-cAa~0-c7ob0oOoOoOoOooOon
gobooooooooobodooooooobooobooooooooooooooooon
000000 pyOODODDO (Skeletoncurvep OO-CAO0000000000 ky, 0000 pO
ot ppdddoboobbooogoouooooboobboouoooobooobn
0o0o0oooooooooooobooooooooooooooo
0000000000000 00000O0O0OO0O0000000D0000DOoOOoOOoODODO
-C200000000000000000000U0D kOOOODOODODOoOoDOoOooDOoUooDoOoOoo
000000000000 00000000000000000000000000kOODOO
0000000000000 0000o0000oU0O00O0 ky<kOOOO
0oo0oooooooobooooooooobooooooooobooooooooooooo
000doooo000odoooooooooooooon 2000000000 (External curve)
ggoboboboboooo-c2idbobtdpyddobbogb edbbbbooobbbboo@
O00000e0g00000efg0g-h-e0000000000O0O0DO0OODOOOOOODODO
Ooooog (Internalcurvepn 00 od
py0OOOOO0Oooooooboooobooooboooooboboo-c30 pyog
00 Go0bdboobdbDodbOOoobooOoobOoDoO0obOOooo0 GQUuo Ggooboooooa
O000ooooooo00oooo0ooo0oo0ooooooooooni, jolooo20000
00000000 bOO000D GgoOooobobOooobOoOooD p=00000 ZO000DOOO

P p Y i m p T B T
Py |-——Ff——— . c /Z,il c, /ffil
JkH i LoV
y ZZ /// kHr , 22 //) / kHr ,
,I // ////Zl II ///Zl
I |
|| S ,' e
¥ ~Pu 777(@:/727 777C27
og-ci1r00o0 O-cz2 0000000 o-c3ogn

136



P @ ® (© @

v
/‘ l l bl : :
f -
f Degradation
& y . of p
y L/ y Drift of y
the skeleton curve
A: preceding reversal point
0: last reversal point Fully-reversed cyclic loading One-sided cyclic loading
O0-C4 0000O0O0OOOOoOooOn O-C5 00000000000D00D00nDo {@ao 2)

0000 (@O 1)

ZGoOooooooo z 00000 kyOOODOOOOOOOOOOOOOO0OOT;, 0000
0000000000 GC0o0o00o0oo0o0 pyd 00000000000 0O00OO (Target
point) T OO0O000O0D0O0O0OOCO0O00000kyyOOOOOCOOOOOODOO

Knr = Mko (C-l)

ooooMODOOOOOOM=10000000000O0O0OO0O0OO0DODOOOOOOOOOO
-C300000000000000 0000000 0p=000000000k 000000
O0p=000 TmOD0O00O0DOOOODOOODOO
ooooooodooo TOooooooooo-c400o0o00oooooooooooog py
ogoooooooood
e J0OODOOODOO (Precedingreversal poin 0 0000000 (Lastreversal point] p O
gooboboooooubbbtbooo0bbboooooubobo pyoooobboog
0O000g (O0-C.4@), (d)O
e JOOUUIOUDDUUUOULDUUOUUD pUbbUU0OdObbbUOUOUUOUbDbDUUOObOUOO
O00DD0000 pyDDOOOOOODODDDOOOOODODOO (O-CA4(b), (c)D
goooo-c4bdoooo-cs5uoooooonoonoooooooooooon
00000o0ooooobooooooooooooooooooooooooooooooon
gobooooooooobooooobooooooooboooooboooooooooboooa
000000000000 0ooooooooooooooooOddlatancyd 00000000
gooboooooobooooooob-cs5u0n0nuooobonouoooonoooooon
ggoooooooooooobobbobbbbbbobobbobooo pybbbooO
0o0o0ooooooobbooooooooooooooooo
O0o00doooooooo (pyyOUDOOODODOUOOODODODODODOOOO p=00000O
z0OOOOO zOyOODOOooooOoO z00D0000DOOOO0OODOOODDOOOODOOO
gooooogoo-ceuonoouoooboooooboboooononoooooobouoooon
0000000GoO ZOO0OO00D kwODOODODODODODODODO0ODODODODoOo

137



C, ?1 /’Tl
i
4 é r
L, Y /)\kHunI
iy
i ae%
- / P // Z'l
LN
Tz.é G C.
0-Ce6 0C,z, ;000 O-C7rooooooo

dooo-c7000b0d0ooonoooooobouoooboooooooooooooon
0000000000D0000 (Localtargetpoint) [ D0 0000000 DO0O0OOODOOODOOO
00o0o0o0o Ty,oooooooooooooooooooooooooooooooooon
oot buoogobooooooooobooogbobooono
0odoodbOdDoOo0 Cyuoobo0doDoobooDOoooooOOooobOooobOooDoooDa
00000000000 (Referenceinternalcurve) 0000000000 Z; 0000000
kye 0000 T 0000000000000000O000O00O00O0OC,;0000000000
Tyy0ooooo0o-cel0dObOOOOOOOOOOOOOOOO

C2 0OOOOOO

gboboboboobobobobobobobobobobOobOobOobDoOg-s3000
ubobooobooboobooodbobonoooobobobooobbobobbooboobooo
goobobooooooo-c8sbgnoooooobobobobobUu2p0p0bobUobUoDbo
OO0DOo00O0obOoO0oD ls=1~800 8000000DOOOODOODOOOODOO-C800O
gbooboboobobolsboboobooooooooooooooooogo isoboboobn
uobbooobobooobbooobbooobbooobb pybhboobbooobooOoo
gboboobog pyoobooboooboobooobbon
ogobooooboboooooobbooboboouoboobboUo40bU00DbDbOOobOoO
B:OOOOOO IsObODbO0ObOO0ODbOobOobOoboobO
P:OBUOOUODOOUOOO pyUOUODOODLOUODUOLDOOP,P,,PsO030000O0OpydO
gbooobobooboobbodo
R:0000O00O0O0OD0O0O0OR, R, RsO3000000OROOO0O0OODODO0OOOODODORO
Oo0Db0o0bOU0U0D00ORODOO0O0DOOObOOOoOobbOOobOoOoOO
T pyOQOOOOODOOT,, T, 73030000000 T, 0D000000O0DOOOOOODO
ooboobooooooboobooboboooobobooooobooooobooboboboooDo

138



(a) Skeleton curve

Pu

Ky

(c) Reference internal

(b) External curve

curve ,;;’ R,
el
;p;f;@/ﬁ?/ S
- y i y
’/’ R vii
; Vil
?;»1 ~Pu
lg ooo ogooo ogod
| gooo goobooodoooon
Il good
1 gooo DR1DDDDDDDDDDDDDDDDDR1 p=00000O
v ooooooo p=00000O0
V gooooo goooooooooobooo i,000oooog) p=00000O
VI p=000000
VI gooo O0d T,00 T:00000 T;00 T,O0O00 p=00000O
VIII good p=000000O

0-c8 pydOOOOOOOCO

T,00000ooboooooobobooobooooobooboooooobobooboboobooooD

gboobobobobobOobobobobog Tz000o0ooooobobobobooD

gboogooboobbooboobobuooboobobooboobbooba
0000000 Xy O0OOO (pxyayxyy DO OOOODOOOCOOO X000 XOOOOOOoOOO

goboobooobobon

C21

ls=100000000000000000

o-cobbuboboUooboobooouoboooBOORMODOODOOOO

Pr1 = Ps,

Yr1 = YB

(C.2)

py0OOB(=R)—>P,»P,00000000000000000000P,00BOO p=00

gbobooboobooo

prp1 =0, Yp1=Ys— pa/ko
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0-C9ls=100000000000000 O0-Cl10 ls=200000000000000
ooo ooad

UOkRODODRODOOODOOODODOOODOODOO

Pr2 = —Pr1, YP2 = —YR1 (C.4)

oboobobob pOoboooooonog

Prs = vPu, Yr3 = Pra/kn (C.5)

ubobdgybOooooooog

1 if Ayg - 0
V:{ X (Pre/Ipral) if Ayg - Yr1 > co)

1% (Pra/IPral) if Ays-Yyr <O
Ayg 00 BOOOOODOODDODDODOOyODOOoOooonO
O0000o0oO0o0oo0O0oo0ooO0ob0 yo0oboo0ooOoooboo0oo0ooO00oo0 zoOo P,,OOOOOO
ooboobodo ZrRiO0 LT OD0O00 TRO0D000yz=-yuOOOOOOQODOO T:O0DOO
oooooOoood

Pr1
= + =k —
Pr1 Ve +ypl(yT1 yp1) = Kur(yr1 — Yp1)
—Pr1 — K +
yr1 = —PRL Hr(YRe + YP1) (C.7)

Pr1 — Knr(Yre + Yp1) ©

C22 |=200000000000000OO0OO

Oo-ciodopoooobooboOoobbls=100000000BOUDRMOOOODODOOOO Py
OO0BODO p=0000000O0O000PRODORKOOOODOOODOOOODOOODOOOOO

ooboobooobooo T,0000bb0 zo0 ,RLOUODDOOOOODDOODOOI=10
oooboobob ZrRo AT O00000 T,O0O000

Pr1
= + =k —
pr1 Ve +ypl(YT1 yp1) = Kur(Yr1 — YpP1)
—prt — K +
Yoy = PR Hr(YRL + Yp1) (C.8)

Pr1 — Knr(Yre + Yp1) ©
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1=3 13

(@) (b)
0-C11 1s=300000000000000000

C23 |=30000000000O000O0ODOOD

U-Clia00onogooonog BTiUO p=vypODOODO PROOODO

PP1 =VPu, Yr1= Vpu—k—pB +YB (C.9)
goono
k= Pri—Ps (C.10)
YT1—YB

O-Clib)0oon |jpril<pud00bodbdpyddoooogboo BTiO00b0oooog
gbooboooooboooooooooooog

C24 |;=4000000000000O00O0DOO
U-crubdbobobuoBbOUdRUOIDODODODOO

Pr2 = PB, YrR2=YB (C.11)

OpP,UO0BOO p=0000000000000DO0O0O0O0O0O PT10 p=vpodOOO0OO PO
oon

Pr2 = vPu, Yp2= Vpu—;ppl +Yp1 (C.12)
ooon
k= PPz Pm (C.13)
YP1— Y11

gboboboboboooooouooboobo T,00b0oo0oboboobobUobg T,00
O BT,0 AT, 0000000000000 00OO0BOOOOOOODOOOOODOOOO BT,
oboobobobobob BT, 0b00boobooboobOobooboOoDo

BT,: p=ay+b (C.14)
0000000 0a, bO00O0D0OO0DOOO0 P T, 0000000000
PiT2: p=kyr(y - Yp1) (C.15)
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4 !

Y

O Pt -
T3

0-Cil2 =40 000000000000000O0

P p

(a) (b)
0-C13 l,=500000000000000000

0T,00 (C.14)00 (C.15000000000y0000000000000

_ Kuryp1 +b

- (C.16)

Y12

0 (C.16)00 (C.15000000 pr., 0000000

C25 |;=5000000000000000DO0O

0-C1300000000py00000BOOOOOOOOOOOD T,0000 T;00000
lpr2l < pu 000 (0-C13) 00000000 P, P, 00T, RO0OD0D0DOOD0DOD0000
lprol > pu 000 (0-C.13(b)) 000 P,OO00O0O00O000Op=vpy 000 BT,000000
00000000 P 00000

Pp1=VvPu, Yp1= —VPUk_ P YB (C.17)
k= Pr2—Ps (C.18)
Yr2—YB

ool o0-cu4gboooobobbdls=5000o0boooobooooboobooono
O00ls=1000000000ROOOODOOCO0O0O0-C240000000000 Py(=Ty)
00000 RRIOODODOODODO0ODORROD0OD0O00OD0O00O000O00O00O000O00O0O00O00py0OO
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(a) (b)
0-Cl15 ls=600000000000000000

0T,00000000 Oo0oo0ooooo T,ro0-c8s0ioinononlsoiooonon
obo0obob0do0o-c14000 T.1;000000 Is=40000000000000000

C26 ls=60000000000000000O0O
(1) 0OOoO

0-C.15000000000BO0RO0OODOOOOOOPO0BOO p=000000
0000000000|prl <py000 (0-C15(),0 P, 00 T, 000000 P300 R, OO
000000 R, 00000 P;000000 pyOOOD0O000000000](pr2l>py000
(0-C.15(b),0 P,OOO P, T,0 p=ypy 00000000 P,O000000 pyDOOOOOO
ooo

0000000000000000000000000000 T,0000000000 ZBO
PT;0000 Ts00000000ZO00T,000000000BO0000000O000000
00000 ZBOOOOOOOOO

() 0T, 00000000

O-cleb0oUobodpydbOOOODODODOLOD RmeZOO0DODOOOOOBOOOOO
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Z: Completely
unloaded point from
Ri1o

(b)
0-C16 s=600000000000000000 (@ T.00000000)

(@)

uboboobooboooboobooobooboobbooboobboo-ciaednogn
UReO00BOODODOOOODOODOO RMODOOOOOODO
UbobOoooo00obo0ob0obOob0bD00obobob0boD00b0bUObDOnDOn RO
0000000000 (000000000 0)Z0O0PROyYyODOOOOOODODOOODDOO
Oooo0i0bD0y0ynOOODOOoOoOOOOBOOOOOOOOOODOODOOODOOO
gboboobooboooboobooooobooboobbooboobobooboooon

Ays - (Yp1—Yz) <0 (C.19)

bbb Mmoot rUOb0b0b0ODbUODODODO0O0 MO RyODOOD
ORp,0O0000C00C0BROOOOOOOO MpO p=pp0000 -poOO0O0D0OODOO
obooboboobobood Rp0 O

Prin = —vPu

(C.20)
YRin = Y& + (Prin — PB)/Ko
goopoooooooooooo P’;_RlnD T, 00000 THyOOOOOO yOoOOonoO
kHr+k _VpU
= . kE— 021
Yrin Kur — kP YRin + YpP1 ( )

OodbpbUO00Oyn000 PRRy0OO0OO AT,y 0000000000O0O0OO0O0OOO0O0
goooo

Prin = Krr(Yrin — Yp1) (C.22)
00000 0 R O0O000O000000BOOODOOOOOOODOOOOODO Is=30000
god

000 0O-Cl16(b) 0000 VRO pu/kn OO0 O0O0D0COO000OR,, 000000000000
ocooooobom,oooobooobobooooboo
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R,

// by -
, o
,,,//,/,’ (/ /?lﬁ
- R, T2
T 1

(@) (b)
0-Cl17 |s=70000000000C0000000@ T3000000)

C27 ls=700000000000000000
(1) 0ooooo

0000BOOODOOOOOOOOOOOOOOOOOOOAYs(yr2—Yye)<00000 T30
(0-C.17), Ayg - (yr2-yg) >00000 T,O0O OO O (O-C.18)0

(2) 0Ts000000000

lpral<pu 000 (0-C17(a),0 OO T30000000 P, 000 TeT1 0 p=vpy 000

good

Op2 = VDU, Yrp = Yoo+ (vpu = Pr1)(YP1 — YT1) (C.23)
Pp1 — PT1

0OPO000OO0O0OOCOOOOOO0
0O00]|pral>py 000 (O0-C.17(b)),0 P,OOO BTs0 p=vpy 0000000

Pp1=VvPu, Yr1=YB+ (vPu — Pe)¥e — yra) (C.24)
P — P13

OpO0O0OO0OOODOODOOOODO

3 0T,000000000

Ipral < pu 000 (0-C.18(@1)), 0 P00 T,000000 P00 R, 000000py00 P,
00000000000000000O|pr2l>py000 (0-C.18(b)),00 BT, 0OODOOO0O
00000000 PO000000000000000000BT,000000000 pp =vpu
0000000 POO00000O0

Op1 = VDU, YeL = Ve + (vpu — pe)(YT2 — YB) (C.25)
Pr2 — Ps

OpO0OOO0OOODOODOOOO
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@ (b)
0-C18 l¢=700000000000000000 (0 T,00000O0O)

(@) (b)
0-C19 Is=800000000000000000 (0 Ts0ODOOOO)

C28 | =80000000000O0O00O0OODOODO

(1) 000000
0-C.19,C.20,C21 000000000 P00BO0 p=0000000000000C

Pr1 =0, Yyp1=Ys— Pa/ko (C.26)

0000pyD Ays-(Yr2—Yys) <000 00 TeO (0-C.19), Ays-(yr2—Yye) > 00000 T,000
00 (0-co)00o00o-cz1i000dpodnodls=8000000000000000DOODO0O
O0o0000000o0000o0ooobo0 yooooooooooao

Ts00O0000: Ays(yr2—Ye1) <000 Ays(yz —Ye1) <0

T.000000: Ayg(yr2—Yp1) >0
T.000000: Ayg(yrz-Ye1) <000 Ays(yz —Yp1) >0

uboboooboogn
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18

Z: Perfectly unloaded
point from R,

(@) (b)
0-C20 |s=800000000000000000 (T,000000)

p
1=8 T,
° ..
Ry P, -7
VI_o7 .
iR
i f
I
H %
HI K y
::::‘.f::‘a“:‘w#

Z: Perfectly unloaded
point from Ry,

0-C21 1s=80000000000000000O0@ T,000000)

OT;00000T,000000000

)
lpral< pu 000 (0-C19(), 0 P00 T30000000000 P00

OT;000000

0PT.0 p=vpy00O0O0000O
(C.27)

(vpu — pPr2)(YP2 — Y1)
= Vpo +
YP3 = Yp2 D2 — P11

Pp3 = vPu,

O000pyOdO0O PODOODODODDOOOO0OODODOOOOOOO]|prsl>pu00O0 (O0-C.19(b)),

0P,000PTs0 p=vpy 0000000
(C.28)

(vpu = Pr1)(YP1 — YT3)
=Vpy +
YP2 = Yp1 Pp1 — PT3

PpP2 = vpu,

o000 pyddOOPROOOOODOODOOOOOO
OT,0000000 |pr2l<spuO00 (@-C20),0P,00T,0000000000PO0O0O

P,T:0 p=vpy 0000000
(C.29)

(vPu = pPr2)(YP2 - ¥7,)
Pp3 =VvPu, Yr3=Yp2+ "
Pr2 — P71
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/ 5
Tin s R ]
[ A

0-C22 |1s=8000000000000000000 T,00000000)

0000pyOOOP0000000000000000000|pr>pu00000P,0O00
PT,0 p=vpy 0000000

Op2 = VDU, Yrp = Yoo+ (vpu = Pr1)(YP1 — Y12) (C.30)
Pp1 — Pr2

ooob pyb OO ROODOODODOODOODODODO

UT, 000000000 O0-c200000000 T,0000 T30 p=xpy000000
Ubooooboobooobobt bbb oboboboobobobobnobooo
ooooooboOoooooDboOooo TORODOO @OOoOoboboOoODOO

O0T;000000000 O-c23000000D000D0O00D0O00ODOOODOoOobooOonDoa
0000000000000 0ooooo Ts0000000o0obdn Rz BOOOOOO
0000000 R OOO0OO0DOOODO T3000000000 RzoOODOOOOOO ZOO PO
yoOoOOoooooooooooooo(C19uouoouoooon Ts00 T30 00O T3paO0O
00000000000 T3a,000 P1T3n0 TR0 O0O0ODOO0O
Kyra— prai—kurypr | _ PT1— Proo
K= Knr ’ Y11 — YR30
0000 yv13, 000 T30 000 TR, 0000 O0ODOOO pOQOOODOODOODO

YT3n = (C.31)

Pran = Krr(Yran — Yp1) (C.32)

0000 T3 0000000000 RROOUOO Rz I RenOOOOOOOOOO T1R300 BPy

00000 R;yOOODDOYODDOOO

_koys—Pe—Kyri+pra | _ P11 Preo
ko —k ’ Y11 — YR30

00000000000 yrenOODO T1R3e 0000 BRROOOOODODOO pren D000 OODOO

0ooooooooooo

Yran (C.33)

Pran = Ko(Yran — YB) + PB (C.34)
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Z: Perfectly unloaded
point from Rz,

0-C23 1s=800000000000000000(@ Ts0OOoOoooono)

(3 0T,000000000

0-c210000000000 PODOO PT10 p=yvp00OOOO0OODODOODOOODODO
_ Py — Pry)(YPr —yra) |
Pp1 — P11
O00000D0D000 T,00 TeOOO T, OO0OO0OO000OD0OT,00000000 RO
000000 zZzO0O0PO0y0O0OOO0O0ODOOO0O0OD0OO0O0O0O0OO (CA9UOODODOO0O0OOOO
ooon

Pp2 = vPu, Yp2 YpP1 (C.35)

Ays - (Yz —Yr1) > 0 (C.36)
00000 Tn000 PiTon0 TR OO OOOOOOOYyOOOO

_ kuryp1 —kyr1 + pra k= PT1— Preo (C.37)
Kur — K ' Y71 — YR20 '

YTon

0000000000 yr2o0000 PiT200000 TR0 0000000 pOOOOOOODO
oon

Pran = Kur(Yr2n — Yp1) (C.38)

0000000 T, 00000000000 RROODDD RO RyODOO0OOODODOMO TiR20
UOBPODODO RpyODODOUODOyOOoooooooooo

Kyr, — P, — Koys + Ps K = PT1~ Preo
k- ko ’ Y71 — YRoo

Yron = (C.39)
O000O0 T TR,O000O0BPRODONONODODD p000000ODOOO0ODODOO0OOO
Pren = Ko(Yren — YB) + P8 (C.40)

oobooBOOOOOODOOOOPAOOOOODOODO Is=50000000

149



o D 00 DvD-ROMUO OO [

D1 OO00OODOOOOoOO

OO0D0O0O0O0O0O 40150000 bvD-ROMOOOOODOODOOOOODOODOODDOODO
voboooobooboboobooobooooboobooboboobooobooobooboobobo
oooOo0oO0obooOoboO0oz20000bO0oOobooOooboooDoo

e OO ODODOOOOOODOOODLOOODDOObLOOODDOObLOOn

e OO0 DODODDOODODOODLDOODODODODODODDLOODODODODDOOD
gbodgbooboboobaoboobuobuoobogbuoobuoouoobooooboooo
gboobobobooboobooobooboooboooboboboobooboobobo
obooooooooooboooooobono

0 305-85160 00000000 1006
goobobobgobob
goboobooobobooooo

D.2 DvD-rROMUODOOOOODO

obpbvDOOOooooooooooooooo

DVD-ROM

| original data 00000 (@0000000000000000)
O  Accelerometer (gal)

0O | Load cell (N)

O I Laser displacement transducer (mm)

O | Strain gauge (micro)

0 L channel.xls :00o00ooon

| converted data 00000 @UOOoO0ooooooooooon)
O  Bending moment (kNm)

O | Displacement (mm)

0  Displacement - ground (mm)

O I Soil resistance (kN over m2)

O . Rotation angle (rad)

| 4015.pdf ;0000000 40150 OO

L soil.pdf 000000oooooood

OO00D00000oO0ooOooo0dO0%riginaldata”’0 00 0000000000000 OOO0O0O
000 Series1, Run5 000000000000 *“runl-05"0000000003000000
000 “originaldata’0 0 0000000 Oonverteddatal 0000 000000OCOO00OO
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000000 Seriesl, Run& 000 PileN-1DOOOOODODODOOO “runl-05-nl.csvD 000
0000000000000 csv(Comma SeparatedValues D000 00000000000
goddooooooooooooooogo

D.3 OOOOO

“original data”, “converteddata) D0 00 0000000000000 0ODDODOD OO original
datgStrain gauggunl-Ol.csvO O OO OO OOoOoOdd

12345678901234567890123456789012345678901234567890 ...

100 : # Line number 40000
200 : # Column number 105
300 : # Sampling Freq(Hz) 200
400 : # Channel , 137, 138, 139, ... 240
500 : # Location, Pile-N1-S, Pile-N1-S, Pile-N1-S, ... Pile-M2-N
600: # GL (m) 0.14, 0.05, -0.10, ... -2.80
700: 0.000,-2.31144E-01,-2.37480E-02,-2.14445E-01, ... 8.40993E-02
80 0: 0.005,-7.10955E-01,-2.63625E-01,-8.09124E-01, ... 3.19672E-01
om0 : 0.010,-5.91005E-01,-2.37480E-02,-4.52316E-01, ... 5.55248E-01
good

100: 10e0000000O0O0ODDOO

200: 40000000000

300: Dboboboobn

400: 000000 O00OO0O0DboOoboOoooooo

500: 00000000000000DD0O0O0O “Locaton"d 0000

6Ul: GLOOOODOODOOOOOOODOODOOD
70000:0000000D1O0O000O02000000000e0O00DOOODOOOO
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D4 O00000000ano EIEEEEEEEIEEEE Location [GL (m)]

51| OOO gal N-100000 Pile-N1 0.05

D41 SeriesTI 00000000 52| OOO gal N-100000 Pile-N1 | -0.10
53| 0O0O0O gal N-10O0O0OO0O0d Pile-N1 | -0.25

[ch[oooo[oo] oooo | Location [GL (m)] 54| OO0 |gal|l0N10OO0OOOO]| Pile-NL |-0.45
oood | gal ooooo Table | -3.00 55| OO0 gal N-100000 Pile-N1 | -0.65

N-100000 Pile-N1 | -0.85
N-100000 Pile-N1 | -1.05
N-100000 Pile-N1 | -1.45
N-100000 Pile-N1 | -1.85
N-100000 Pile-N1 | -2.25
N-100000 Pile-N1 | -2.65

1
2| oo0 | gal ooooo Table | -3.00 56| 00O |gal
3/ 000 [gal|] DOOOOO |Ground-W —0.10 57| 000 | oal
4| 000 |gal| DOOOOO  |Ground-W —0.25 58| 000 | gal
5/ 000 |gal| DOOODOO |Ground-W —0.45 59| 000 | oal
6
7
8
9

000 |gal| OOOOOO |Ground-W —0.65 60| 000 |oal
000 |gal| 000000 |Ground-W -0.85 61] 000 |gal

000 | gal oooooo Ground-W —1.05 62| 0O0OO gal M-100000| Pile-M1 0.05
0oo | gal oooooo Ground-W —-1.45 63| O0OO gal M-100000| Pile-M1 | -0.10
10l 00O | gal oooooo Ground-W -1.85 64| OOO gal M-100000| Pile-M1 | -0.25
11 00O | gal oooooo Ground-W -2.25 65| OOO gal M-1O0O00O00| Pile-M1 | -0.45

M-100000| Pile-M1 | -0.65
M-1O0O00O00| Pile-M1 | -0.85
M-100000| Pile-M1 | -1.05
M-1O0O00O00| Pile-M1 | -1.45
M-100000| Pile-M1 | -1.85
M-1O000O00| Pile-M1 | -2.25
M-100000| Pile-M1 | -2.65

12| 000 |gal| ODOOOOO |Ground-W —2.65 66| OO0 | gal
13[ 000 |gal| 000000 | GroundN —0.10 67] 000 | oal
14/ 000 |gal| 000000 | GroundN| —0.25 68| OO0 |ogal
15/ 000 |gal| 000000 | GroundN| —0.45 69| 000 | gal
16| 000 |gal| 000000 | GroundN| —0.65 70| OO0 |gal
17| 000 |gal| DOCOOO | GroundN| —0.85 71] 000 | gal
18 000 |gal| 000000 |GroundN| —1.05 72| 00O |ogal

19| 000 |gal| 0OOOOOO |Ground-N| —1.45 73| 000 |gal|0N-200000]| Pile-N2 | 0.05
20l OO0 |gal| DOOOOO |Ground-N| -1.85 74| 000 |gal|ON-200000] Pile-N2 | -0.10
21 000 |gal| 0OOODOOOO |Ground-N| —2.25 75| 000 |gal|ON-200000] Pile-N2 | -0.25

N20000O0]| PileN2 | -0.45
N-200000]| PileN2 | -0.65
N200000]| PileN2 | -0.85
N-200000 Pile-N2 -1.05
N200000]| PileN2 | -1.45
N-200000 Pile-N2 -1.85
N200000]| PileN2 | -2.25
N2000O00]| PileN2 | -2.65
M200000] Pile-M2 | 0.05
M-200000]| Pile-M2 | —0.10
M200000]| Pile-M2 | -0.25
M200000]| Pile-M2 | -0.45

22| 000 |gal| DOOOOO |Ground-N| —2.65 76| 000 |gal

23[ 000 [gal| DOOOOO | Ground-E[ -0.10 77| OO0 |oal
24| OO0 | gal oooooag Ground-E| -0.25 78| 0OOO gal
25| 000 |gal| DOOOOO | Ground-E| —0.45 79| 000 g
26| 000 |gal| 0OOOOOO | Ground-E| -0.65 80| OO0 | gal
27| 000 |gal| OOOOOO |Ground-E| -0.85 81| DODO | gal
28/ 000 |gal| 0OOOOO | Ground-E| -1.05 82| OO0 | gal
29| 0OO |gal| OOOOODO Ground-E| -1.45 83| OOO gal
30 000 |gal| 0DOOOOO | Ground-E| -1.85 84| 0oO |gal
31 000 |gal| 0DO0OO0OOO | Ground-E| -2.25 85| OO0 |ogal

32| 00O |gal| DOOOOO | Ground-E| —2.65 86| OO0 |oga
87| O0OO gal

Oojgjo|jo|jg|ojgjg|jo|jg|o|jlo|g|o|ojgjo|o|g|o|gjo|b|jg|o|jo|o|o|jojg|o|jg|g|lo|jg|jo|o|ag|lo|g|a|lo|a|d

33 000 [gal|ON-1O0O0O0OO] Pile-N1 | -0.35 :
34| 000 |gal|0N1OOODO| PileNL | —0.75 88| OO0 |gal|dM200000] Pile-M2 | -0.65

. 89| DOO |gal|DM200000] Pile-M2 | -0.85
35| 000 |gal|0OM-100000]| Pile-M1 | -0.35 -

. 90| 00O |gal|OM200000] Pile-M2 | -1.05
36| 000 |gal|OM100000] Pile-M1 | -0.75 .

- 91| OOO gal M-200000| Pile-M2 | -1.45
371 000 |gal|D S100000 P!Ie-Sl -0.35 92| 000 |gal|0M200000] PileM2 | -1.85
38| OO0 |gal |0 s-100000 | Pile-S1 | -0.75 93| ooo gal M2 00000l PiemMz | —2.25
39 000 |gal|0N-200000 | Pile-N2 | -0.35 94| OO0 |gal|lOM200000] Pile-M2 | -2.65
40| OO0 |gal|O0N-200000] Pile-N2 | -0.75 95| 000 | gal =000 Weight —
41 00O |gal |0 M200000 | Pile-M2 | -0.35 96| OOD gal O Support | 0.55
42| 00O |gal|OM-200000 | Pile-M2 | -0.75 97| oono gal ooooo PileCap-H | 0.275
43| 000 |gal |0 S200000 | Pile-S2 | -0.35 9800000 | gal|000DOOOOO |PileCap-VM| 0.275
44/ 000 |gal |0 S-200000 | Pile-S2 | -0.75 99|00000| gal|D0DD0ODOOO |PileCap-VS 0.275
45| 000 |gal |0 N-300000 | Pile-N3 | -0.35 10000000 gal |[000O0O00O00O0 |PileCap-VN| 0.275
46| 000 |gal |[ON-300000] Pile-N3 | -0.75 101 OO N ON-1000 Pile-N1-S | -0.35
47] 000 |gal|0M300000] Pile-M3 | -0.35 102 OO N | OoN100OO Pile-N1-S | —0.75
48| 00D |gal [0 M-300000] Pile-M3 | -0.75 103 OO N | ON10OOO Pile-N1-N | -0.35
49 OO0 [gal|O S-300000 | Pile-S3 | -0.35 104 00O N| ON1000 | Pile-N1-N | -0.75
50| 00O |gal |0 S-300000 | Pile-S3 | -0.75
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EIEEEEIEEIEEEE Location |GL (m)] EIEEEEIEEIEEEE Location |GL (m)]

105f 00 | N [0 M-1000 |Pile-M1-S| -0.35 159 000 | ¢ [ON-1000 |Pile-N1-N| -1.85
106) OO N |0 M-1000 |Pile-M1-S| -0.75 160) 000 | p |0 N-1000 |Pile-N1-N| —2.25
107, 00 | N [0 M-1000 |Pile-M1-N| -0.35 161 OO0 | ¢ [0 N-1000 |Pile-N1-N| —2.65
108 OO N |0 M-1000 |Pile-M1-N| -0.75 162 000 | p [0 N-1000 |Pile-N1-N| —2.80
109 OO N |0 s-1000 | Pile-S1-S| -0.35 163 000 | p |0 M-1000 Pile-M1-S| 0.14
110| OO N |0 s-1000 | Pile-S1-S| -0.75 164 00O | p |0 M-1000 |Pile-M1-S| 0.05
111 OO N |0 S-1000 |Pile-S1-N| -0.35 165 000 | p |0 M-1000 |Pile-M1-S| -0.10
112| OO N |0 s-1000 | Pile-S1-N| -0.75 166 OO0 | p |0 M-1000 | Pile-M1-S| -0.25
113 00 | N |O N2000 | Pile-N2-S| —0.35 167 000 | p |0 M-1000 |Pile-M1-S| ~0.45
114 00 | N |0 N2000 |PileN2-S| —0.75 168 OO0 | u |0 M-1000 |Pile-M1-S| -0.65
115] 00 | N |0 N2000 |Pile-N2-N| —0.35 169 000 | w4 |0 M-1000 |Pile-M1-S| ~0.85
116) 00 | N |0 N2000 |PileN2-N| —0.75 170 000 | p |0 M-1000 |Pile-M1-S| -1.05
, 171 000 | » |0 M-1000 |Pile-M1-S| -1.45
117l 00 | N [0 M-2000 |Pile-M2-S| -0.35 .
. 172 000 | ¢ |0 M-1O000 |Pile-M1-S| -1.85
118 0O | N |0 M-2000 |Pile-M2-S| -0.75 .
. 173l 000 | » |0 M-1O000 |Pile-M1-S| -2.25
119 00 | N |0 M-2000 |Pile-M2-N| -0.35 .
. 174/ 000 | u |0 M-1000 |Pile-M1-S| -2.65
1200 00 | N |0 M-2000 |Pile-M2-N| -0.75 .
175/ 000 | » |0 M-1000 |Pile-M1-S| -2.80
121/ OO | N |D s-2000 | Pile-S2-S| -0.35 176) 000 | ¢ |0 M1000 |PileMIN| 014
122l 0O | N |0 s-2000 | Pile-S2-S| -0.75 1770000 | & |0 M1000 |Pile-MLN| 0.05
123 00 | N |0S2000 |Pile-52-N| -0.35 178 000 | ¢ |0 M1 000 |Pile-ML-N| —0.10
124 0O | N |0 S-2000 |Pile-S2-N| -0.75 179 000 | 4 |0 M1 000 |Pile-MIN| —0.25
125 OO0 N |0 N-3000 |Pile-N3-S| -0.35 180 OO0 | x |0 M-1000 |Pile-M1-N| -0.45
126/ OO N |0 N-3000 | Pile-N3-S| -0.75 181 ooO u |0 M-1000 |Pile-M1-N| -0.65
127 00O N |0 N-3000 |Pile-N3-N| -0.35 182/ OO0 | x |0 M-1000 |Pile-M1-N| -0.85
128/ OO N |0 N-3000 |Pile-N3-N| -0.75 183 OO0 u |0 M-1000 |Pile-M1-N| -1.05
129 0O | N [0 M-3000 |Pile-M3-S| -0.35 184/ OO0 | x |0 M-1000 |Pile-M1-N| —1.45
1300 0O | N |0 M-3000 |Pile-M3-S| -0.75 185 OO0 | 4 |0 M-1000 |Pile-M1-N| -1.85
131 00 | N |0 M-3000 |Pile-M3-N| -0.35 186 OO0 | x |0 M-1000 |Pile-M1-N| —2.25
132 0O | N [0 M-3000 |Pile-M3-N| -0.75 187| OO0 | x4 |0 M-1O00 |Pile-M1-N| -2.65
133 OO N |0 S-3000 | Pile-S3-S| -0.35 188 OO0 | p |0 M-1000 |Pile-M1-N| —2.80
134/ 0O | N |D s-3000 | Pile-S3-S| -0.75 189 OOD | g4 |0 N-2000 |Pile-N2-S| 0.14
135 00 | N [0 S-3000 |Pile-S3-N| -0.35 190l 000 | u |0 N-2000 | Pile-N2-S| 0.05
136/ 0O | N |D s-3000 |Pile-S3-N| -0.75 191 OO0 | 4 |0 N-2000 | Pile-N2-S| -0.10
137/ 000 | ¢ |0 N-100O |Pile-N1-S| 0.14 192 000 | g |0 N-2000 | Pile-N2-S| -0.25
138 OO0 | 4 |0 N-1000 |Pile-N1-S| 0.05 193 000 | p [0 N-2000 | Pile-N2-S| -0.45
139 000 | ¢ |0 N-1OOO |Pile-N1-S| —0.10 194 000 | w |0 N-2000 | Pile-N2-S| -0.65
140 OO0 | u |0 N-100D0 |Pile-N1-S| -0.25 195 000 | ¢ [0 N-2000 | Pile-N2-S| -0.85
141l 000 | » |0 N-1OOO |Pile-N1-S| —0.45 196 000 | pu |0 N-2000 | Pile-N2-S| -1.05
142l 000 | ¢ |0 N-1000 |Pile-N1-S| -0.65 197/ 000 | p [0 N-2000 | Pile-N2-S| -1.45
143 000 | p |0 N-1O0DOO |Pile-N1-S| -0.85 198 000 | p |0 N-2000 | Pile-N2-S| -1.85
144) 000 | ¢ |0 N-1000 |Pile-N1-S| -1.05 199 000 | ¢ [0 N-2000 | Pile-N2-S| -2.25
145 000 | p |0 N-1ODOO |Pile-N1-S| -1.45 2000 OO0 | p |0 N-2000 | Pile-N2-S| —2.65
146) 000 | u |0 N-1000 |Pile-N1-S| -1.85 201 000 | ¢ |0 N-2000 | Pile-N2-S| -2.80
147 000 | p |0 N-1ODOO |Pile-N1-S| -2.25 202 00O | p |0 N-2000 |Pile-N2-N| 0.14
148 OO0 | u |0 N-1000 |Pile-N1-S| -2.65 203 000 | ¢ |0 N-2000 |Pile-N2-N| 0.05
149 OO0 | p |0 N-1ODOO |Pile-N1-S| -2.80 204 00O | g |0 N-2000 |Pile-N2-N| -0.10
150 OO0 | 4 |0 N-1000 |Pile-N1-N| 0.14 205 000 | ¢ |0 N-2000 |Pile-N2-N| -0.25
151 000 | 4 |0 N-1000 |Pile-N1-N| 0.05 206) 000 | p |0 N-2000 |Pile-N2-N| —0.45
152 000 | x |0 N-1000 |Pile-N1-N| -0.10 207 000 | ¢ |0 N-2000 |Pile-N2-N| —0.65
153 000 | x4 |0 N-100D0 |Pile-N1-N| -0.25 208 000 | ¢ |0 N-2000 |Pile-N2-N| —0.85
154/ 000 | u |0 N-1000 |Pile-N1-N| -0.45 209 000 | p |0 N-2000 |Pile-N2-N| -1.05
155\ 000 | x4 |0 N-1000 |Pile-N1-N| -0.65 210 000 | ¢ |0 N-2000 |Pile-N2-N| —1.45
156) 000 | u |0 N-1000 |Pile-N1-N| -0.85 211 000 | ¢ |0 N-2000 |Pile-N2-N| -1.85
157 000 | x4 |0 N-100D0 |Pile-N1-N| -1.05 212/ 000 | ¢ |0 N-2000 |Pile-N2-N| -2.25
158 000 | w4 [0 N-10O00 |Pile-N1-N| -1.45
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[ch[DoDO[0D0] 0000 | Location [GL (m)]
213[ 000 | x4 |0 N-2000 |Pile-N2-N] -2.65
214/ 000 | ¢ |0 N-2000O |Pile-N2-N| -2.80
215/ 000 | ¢ |0 M2000 |Pile-M2-S| 0.14

216l 00O | x |0 M-2000 | Pile-M2-S| 0.05

217l 000 | x |0 M2000 |Pile-M2-S| -0.10
218/ 00O | x |0 M-2000 |Pile-M2-S| -0.25
219l 00O | x |0 M-2000 |Pile-M2-S| -0.45
2200 00O | x |0 M-2000 |Pile-M2-S| -0.65
221 000 | ¢ |0 M2000 |Pile-M2-S| -0.85
222/ 000 | ¢ |0 M-2000 |Pile-M2-S| -1.05
223l 000 | ¢ |0 M2000 |Pile-M2-S| -1.45
224/ 000 | ¢ |0 M-2000 |Pile-M2-S| -1.85
225/ 000 | ¢ |0 M-2000 |Pile-M2-S| -2.25
226l 00O | x |0 M-2000 |Pile-M2-S| -2.65
2271 000 | 4 |0 M2000 |Pile-M2-S| -2.80
228/ 00O | x |0 M-2000 |Pile-M2-N| 0.14

229/ 00O | x |0 M-2000 |Pile-M2-N| 0.05

230 OO0 | ¢ |0 M-2000 |Pile-M2-N| —0.10
231 000 | 4 |0 M-2000 |Pile-M2-N| -0.25
232/ 000 | ¢ |0 M2O000 |Pile-M2-N| -0.45
233 000 | ¢ |0 M-2000 |Pile-M2-N| -0.65
234 000 | ¢ |0 M2000 |Pile-M2-N| —0.85
235/ 000 | 4 |0 M-2000 |Pile-M2-N| -1.05
236 00O | ¢ |0 M2000 |Pile-M2-N| -1.45
2371 000 | x |0 M2000 |Pile-M2-N| -1.85
238 00O | ¢ |0 M2000 |Pile-M2-N| -2.25
239l 00O | u« |0 M-2000 |Pile-M2-N| -2.65
240l 00O | ¢ |0 M2000 |Pile-M2-N| -2.80
241 OO mm|{O0O00000 Table | -3.00
242 OO mm| 000000 Table | -3.00

D42 SeriesZ1I000000O000O

(2]

|

hl[oooo[oo[ oooo

\ Location \GL (m)‘

1| 000 |gal| O0DOOO Table | -3.00
2| 000 |gal| OD0OODOO Table | -3.00
3| 000 |gal|00O0O00OO |Ground-W -0.10
4| 000 |gal (000000 |Ground-W —-0.25
5| 000 |gal 000000 |Ground-W -0.45
6| 000 gal [0000O0OO |Ground-W -0.65
7| 000 |gal|00O0O00OO |Ground-W -0.85
8| 00O |gal |DD0OOODO |Ground-W -1.05
9| OO0 |gal 000000 |Ground-W -1.45
10 OO0 |gal |[OO0O0OOO |Ground-W —1.85
11 00O | gal |D0O0OO0OO |Ground-W —2.25
12| OO0 |gal |[OO0O0OOO |Ground-W —2.65
13 000 | gal (000000 |Ground-N| —0.10
14/ 000 | gal (000000 |Ground-N| —0.25
15| 000 | gal |O00OO00OO |Ground-N| —0.65
16| 000 | gal |O0OO0OOOO |Ground-N| —1.05
17/ 000 | gal |OD00O00OO |Ground-N| —1.45
18| 000U | gal |O0OO0OOOO |Ground-N| —1.85
19| 000 | gal |O00O0OO |Ground-N| —2.25
200 00O |gal |[O0O0OOO |Ground-N| —2.65

]ch\DDDD\DD\ oooo

Location [GL (m)]

21 000 |gal |D0O00O0OO |Ground-N -0.10
22| OO0 |gal |[0DOOOOO |Ground-N -0.25
23| 000 |gal |DO0O0O0OO |Ground-H -0.45
24/ OO0 |gal |[0DO0OOOO |Ground-E -0.65
25| 000 |gal |DO0O0O0OO |Ground-H -0.85
26| 000 |gal |OOOOOO |Ground-E -1.05
27\ 000 |gal |DO0O00O0OO |Ground-H -1.45
28| 000 |gal |OOOOOO |Ground-E -1.85
29| 000 |gal |DOOO0OO |Ground-H -2.25
30| 000 |gal |OOOOOO |Ground-E -2.65
31 00O | gal O N-1 Ground-g 0.05
32| 00O | gal O N-1 Ground-g -0.10
33 000 | gal 0O N-1 Pile-N1 | -0.25
34/ 000 | gal 0O N-1 Pile-N1 | -0.45
35/ 000 | gal 0O N-1 Pile-M1 | -0.65
36| 000 | gal 0O N-1 Pile-M1 | -0.85
37/, 000 | gal 0O N-1 Pile-S1 | -1.05
38 OO0 | gal O N-1 Pile-S1 | -1.45
39/ 000 | gal 0O N-1 Pile-N2 | -1.85
40| DOO | gal O N-1 Pile-N2 | —-2.25
41 000 | gal 0O N-1 Pile-M2 | -2.65
42| OO0 | gal 0O M-1 Pile-M2 | 0.05
43 OO0 | gal 0 M-1 Pile-S2 | —-0.10
44 OO0 | gal 0O M-1 Pile-S2 | -0.25
45 000 | gal 0 M-1 Pile-N3 | -0.45
46| OO0 | gal 0O M-1 Pile-N3 | -0.65
47, OO0 | gal 0 M-1 Pile-M3 | -0.85
48| OO0 | gal 0 M-1 Pile-M3 | -1.05
49 OO0 gal 0 M-1 Pile-S3 | -1.45
50, 0OO | gal 0 M-1 Pile-S3 | -1.85
51 O0ODO gal 0 M-1 Pile-N1 | -2.25
52| 0OO | gal 0 M-1 Pile-N1 | -2.65
53| OOO | gal O N-2 Pile-N1 | 0.05
54/ 00O | gal 0O N-2 Pile-N1 | -0.10
55| OO0 | gal O N-2 Pile-N1 | -0.25
56| 00O | gal 0O N-2 Pile-N1 | -0.45
57, 00O | gal O N-2 Pile-N1 | —-0.65
58/ 0OO | gal 0 N-2 Pile-N1 | -0.85
59| 0OO | gal O N-2 Pile-N1 | -1.05
60| OO0 | gal 0 N-2 Pile-N1 | -1.45
61 0OO | gal O N-2 Pile-N1 | -1.85
62| 00O | gal 0O N-2 Pile-M1 | -2.25
63| OO0 | gal O N-2 Pile-M1 | -2.65
64 OO0 | gal 0 M-2 Pile-M1 | 0.05
65 00O | gal 0 M-2 Pile-M1 | -0.10
66| 00O | gal 0 M-2 Pile-M1 | -0.25
67| OO0 | gal 0 M-2 Pile-M1 | -0.45
68 OO0 | gal 0 M-2 Pile-M1 | -0.65
69 OO0 | gal 0 M-2 Pile-M1 | -0.85
70, 00O | gal 0 M-2 Pile-M1 | -1.05
71 000 | gal 0 M-2 Pile-M1 | -1.45
72| 00O | gal 0 M-2 Pile-M1 | -1.85
73| 00O | gal 0 M-2 Pile-N2 | -2.25
74 00O | gal 0 M-2 Pile-N2 | -2.65
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[ch]oooo [oo] oDooo Location [GL(m)] [ch[DODD[0O0[ DOOO Location |GL (m)]

75 ooo gal 0 s-1 Pile-N2 0.05 129 O OO p |0 M-1000 |Pile-M3-S| -0.85
76] 000 | ga D51 PileN2 | —0.10| |180] 00O | # |0 M-1OOD |Pile-M3-S| —1.05
771 000 | ga 51 PleN2 | —025| |18l 000 | # |0 M10O00 |Pile-M3-N| —1.45
78] 000 | ga D51 PileN2 | —045| |182] 00O | # |0 M1 00D |Pile-M3-N| —1.85
79| 000 | gal 51 PleN2 | —0.65| |133 OO0 | u |0 M1O00 | Pile-S3-S —2.25
80 ooo gal 0 S-1 Pile-N2 -0.85 134 OO0 pu |0 M-1000 | Pile-S3-S| -2.65
81| 000 |ga 0 o1 PleN2 | —1.05| |185 OO0 | # |0 M10O00 | Pile-S3-N| —2.80
82| ooo gal 0 S-1 Pile-N2 | -1.45 136 OO0 p |0 M-1000|Pile-S3-N| 0.14
5] 000 |oa 3 == | 00c 137 000 | 4 |0 M1OO0O | Pile-NI-S| 0.05
s 000 | oa T Siovs 010l 1138 D00 | 4 [0 M1DDO | PileN1-S[ -0.10
5 000 Toa T oz T o25| |139 D00 | 4 |0 M-100D | Pile-N1-S[ -0.25
567 000 | ga T o o5 140 D00 | 4 [0 M1DDO | PileN1-S[ -0.45
57 000 Toa T oz T oes| 141 D00 | 4 |0 M1ODD | Pile-N1-S[ -0.65
5 000 Teal T o> o5l 142 D00 | 4 [0 M1DDO | PileN1-S[ -0.85
55| 000 Toa T o> T 1os| 143 D00 | 4 |0 M-10DD | Pile-N1-S[ -1.05
% 000 | ga T o 1251 |144 000 | 4 [0 M1DDO | PileN1-S[ -1.45
S 000 Tea | 0000 T 145 000 | 4 [0M1000 [PileNLS| 185
52 000 o . support | 0.5 146 000 | u [0M1000 [PileNLS| 225

: 147] 000 | u |0 M-1O00 | Pile-N1-S| —2.65
93| 00O gal ooooo PileCap-H | 0.275 148 000 | 4 |0 M-1000 | Pile-N1-S| —2.80
94]00000gal [D000000D [PileCap-VM 0275] oo === o= oo Trienis] 014
95|00000 | gal [D0000000 |PileCapVs 0275] i = = > 5 0 o TpileNTN| 005
%|00000 ] ¢al [00000000 |PileCapVN 0275| (o 5 N2 0 0 0 [PieNLNl —0.10
97| OO0 | 4| ON1000O | PileCap-H| 0.14 152/ D00 | ¢ |0 N-2000 |Pile-NI-N| —0.25
98| OO0 | # | ON1DODDO |PileCap-VM 0.05 153 OO0 | ¢ |0 N-2000 |Pile-NI-N| —0.45
99| 000 | p | ON1DOOD |PileCapvs -010) g 000 | 4 [0 N-2000 |Pile-N1-N| —0.65
100 000 |4 | ON10OOC |PileCapVN -025| [155 000 | 5 [0 N20O D0 |PileNLN| —0.85
101 000 | p | ON1OOD | PileNI-S | -045] Mg g | 4 [0 N-2000 |Pile-NLI-N| -1.05
102 000 | u | ON1ODD | Pile-N1-S | ~065| 57000 [ 4 [0 N-2000 | Pile-NI-N| —1.45
103 000 | x| ON10OOD | Pile-NI-N | -085]  Nsgnog | 4 [0 N-2000 |Pile-NLI-N| -1.85
104 000 | p | ONIODD | PileNIN | -105| 5ol 000 | 4 [0 N-2000 | Pile-NI-N| —2.25
105 OO0 | x| ON1OOD | Pile-M1-S | -145] Mo 0o | 4 [0 N-2000 |Pile-NLI-N| —2.65
106) 000 | x| ON1ODD | PileM1-S | -185| g og [ 4 [0 N-2000 | Pile-NI-N| —2.80
107 000 | w4 | ON1ODD | PileMIN | -225] Mo 000 | 4 |0 N-2000 |Pile-NI-N| 0.14
108 000 | x| ON10ODD | Pile-MI-N | ~265]  Faa 0 og [ 4 [0 N-2000 | Pile-M1-S| 0.05
109 OO0 | w4 | ON1ODOD | Pile-S1-S | -280] Mg 0o | 4 |0 N-2000 |Pile-M1-S| -0.10
1100 00O | # | ON1DDOO | PileS1-S| 014 165 00O | u |0 N-2000 |Pile-M1-S| —0.25
111) 000 | x| ON1DOO | Pile-S1-N | 0.05 166) D00 | x |0 N-2000 |Pile-M1-S| —0.45
112 000 | u | ON1ODD | Pile-SI-N | ~010| a7 000 [ 4 [0 N-2000 | Pile-M1-S| —0.65
113 000 | p | ON1OOO | PileN2-S | -025]  FNgg g | 4 |0 N-2000 |Pile-M1-S| -0.85
114 000 |4 | ON10OO | PieN2S|-045| [1as 000 | 5 [0 N2O OO |PleMLS| 105
115 000 | p | ON10ODOD | Pile-N2-N | 065 176000 | 4 [0 N-2000 |Pile-M1-S| —1.45
116 000 | x| ON10OC | PileN2N|[-085| (1737 000 | 4 [0 N20O D00 |PleMiS| L85
W7 000 | p | ONIODD | PlleM2-S | -105|  R750 000 | 4 |0 N-2000 | Pile-M1-S| —2.25
18 000 |4 | ON10OC | PileM2S|-145| (173 000 | 4 [0 N20O0 |PleMisS| —2.65
119 000 | p | ON1ODOD | PileM2N | -185] N7, 0o | 4 [0 N-2000 |Pile-M1-S| —2.80
120 000 | p | ONIOOO | PleM2N| -225] M98 000 | 4 |0 M2000 |Pile-ML-S| 0.14
12y 000 | w | ONIDDD | PileS2:S | -2.65 176 OO0 | x |0 M-2000 |Pile-M1-N| 0.05
122 000 [ ¢ | ONIDDD [ Piles2s[ -280) oo 55000 [piemin 0.0
123 000 | | OM1000 | Pile-S2-N| 014 178/ OO0 | ¢ |0 M2000 |Pile-M1-N| —0.25
124 OO0 | w | OM1000 | Pile-S2-N | 0.05 179 000 | ¢ |0 M2000 |PileM1-N| —0.45
125| 000 | ¢ | OM1000 | PileN3-S | -0.10 180 OO0 | ¢ |0 M2000 |Pile-M1-N| —0.65
126) OO0 | p | OMIO00 | PileN3S|-025|  Fgi™ing | 4 |0 M2000 |Pile-MI-N| —0.85
127) 000 | ¢ | OM1000 | Pile-N3-N | -0.45 182 OO0 | ¢ |0 M2000 |Pile-M1-N| —1.05
128 000 | x| OMI0OO0 | PileN3-N | —0.65
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EIEEEEIEEIEEEE Location |GL (m)] [ch[DODO[0O] 0ODO | Location [GL (m))

183 00O | ¢ |0 M-2000 |Pile-M1-N| -1.45 237/ OO0 | p |0 S-2000 |Pile-M2-N| -0.85
184 OO0 | p |0 M-2000 |Pile-M1-N| -1.85 238 00O | w |0 s-2000 |Pile-M2-N| -1.05
185 00O | ¢ |0 M-2000 |Pile-M1-N| -2.25 239 OO0 | p |0 S-2000 |Pile-M2-N| -1.45
186| OO0 | u |0 M-2000 |Pile-M1-N| -2.65 240 OO0 | w |0 sS-2000 |Pile-M2-N| —2.80
187 0 OO p |0 M-2000 |Pile-M1-N| —-2.80 241 00O mmlooooono Table | —3.00
188 OO0 | p¢ (O M-2000 |Pile-M1-N| 0.14 242| OO mmloooooo| Table | =3.00
189 OO0 | p |0 M-2000 | Pile-N2-S| 0.05
190 OO0 | p¢ |O M-2000 | Pile-N2-S| -0.10
191) 00O | ¢ |0 M-2000 | Pile-N2-S| -0.25
192 00O | ¢ |0 M-2000 | Pile-N2-S| -0.45
193 00O | ¢ |O M-2000 | Pile-N2-S| -0.65
194 OO0 | ¢ |0 M-2000 | Pile-N2-S| -0.85
195 000 | ¢ |0 M-2000 | Pile-N2-S| -1.05
196 O0O00O | ¢ |0 M-2000 | Pile-N2-S| -1.45
197) 00O | ¢ |0 M-2000 | Pile-N2-S| -1.85
198 OO0 | u |0 M-2000 | Pile-N2-S| -2.25
199 00O | ¢ |0 M-2000 | Pile-N2-S| -2.65
2000 0OOO | ¢ |OM-2000 |Pile-N2-S| -2.80
201 0OOO | p |OS-1000 |Pile-N2-S| 0.14
202 0OOO u |0 S-1000 |Pile-N2-N| 0.05
203 OO0 | p |OS-1000 |Pile-N2-N| -0.10
204/ OO0 | p (O S-1000 |Pile-N2-N| -0.25
205 OO0 | ¢ |OS-1000 |Pile-N2-N| -0.45
206l OO0 | pu |O S-1000 |Pile-N2-N| —0.65
207) OO0 | ¢ |0 S-1000 |Pile-N2-N| -0.85
208 OO0 | p (O S-1000 |Pile-N2-N| -1.05
209 OO0 | ¢ |0 S-1000 |Pile-N2-N| -1.45
210l OO0 | p (O S-1000 |Pile-N2-N| —2.80
211) 0DOO | ¢ |0 S-1000 |Pile-N2-N| 0.14
212l 00O | ¢ |0 S-1000 |Pile-N2-N| 0.05
213 00O | ¢ |0 S-1000 |Pile-N2-N| -0.10
214/ 000 | ¢ |0 S-1000 |Pile-N2-N| -0.25
215 00O | ¢ |0 S-1000 |Pile-M2-S| -0.45
216 OO0 | ¢ (O S-1000 |Pile-M2-S| -0.65
217) 0OO | ¢ |0 S-1000 |Pile-M2-S| -0.85
218 OO0 | u |O S-1000 |Pile-M2-S| -1.05
219 00O | ¢ |0 S-1000 |Pile-M2-S| -1.45
2200 OO0 | pw (O S-1000 |Pile-M2-S| -2.80
221) 0OOO | p |OS-2000 |Pile-M2-S| 0.14
222 000 | ¢ |OS-2000 |Pile-M2-S| 0.05
223 0OO | ¢ |OS-2000 |Pile-M2-S| -0.10
224 OO0 | p |0 S-2000 |Pile-M2-S| -0.25
225 000 | p |OS-2000 |Pile-M2-S| -0.45
226 OO0 | p |OS-2000 |Pile-M2-S| —-0.65
227\ 0OO | p |OS-2000 |Pile-M2-S| -0.85
228 OO0 | p |0 S-2000 |Pile-M2-N| -1.05
229 0OO | p |0 S-2000 |Pile-M2-N| -1.45
230 0OOO p |0 S-2000 |Pile-M2-N| -2.80
231 00O | p |OS-2000 |Pile-M2-N| 0.14
232 OO0 u |0 S-2000 |Pile-M2-N| 0.05
233 OO0 | ¢ |OS-2000 |Pile-M2-N| -0.10
234 OO0 | p (O S-2000 |Pile-M2-N| -0.25
235 00O | ¢ |OS-2000 |Pile-M2-N| -0.45
236| OO0 | pu |O S-2000 |Pile-M2-N| —0.65
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